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Sl. No.1
QBID:72001

Who among the following wrote a poem called “Ente Gurunathan® as a personal tribute to Gandhi?

1. Vallathol

2. Gurjada Appa Rao

3. Subramanian Bharati
4. Kumaran Asan

11
(2) 2
3) 3
(4) 4

FufeiRaa o 9 fareH T & fou afdaTd seieie ey U A A didal fadl di?

1. AEEBI

2. oG] 31 3d
3. GEHUGA HRGl
4. PHRA 3

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21701]
2[Option ID=21702]

3[Option ID=21703]
4[Option ID=21704]

Sl. No.2
QBID:72002

Who among the following wrote a history of Indian Literature following the aggregative model?

1. Ganesh Dewy

2. Bhalchandra Nemade
3. K. M. George

4. Sisir Kumar Das

1) 1
(2) 2
3) 3
(4) 4

fafaiaad o € i I Uiod= &1 Suie @3d §¢ YRAIG diied @ Sidery o

1. 7101 &t

2. YIS 1S
3. @. T, Sis

4. IR AR T

[OR!
) 2
3) 3




(4) 4

1[Option ID=21705]
2[Option ID=21706]
3[Option ID=21707]
4[Option ID=21708]

SI. No.3
QBID:72003

Who among the following translated Bankimchandra Chattopadhyay's Rajsingha into Hindi

1. Banarasidas

2. Mahadevi Verma

3. Mahabir Prasad Dwivedi
4. Bharatendu Harishchandra

1)
(2)
(3)
(4)

A W N R

FafeRad # ¥ e dfeads Jeued & Tufde &1 el H Sdle fbdl Ur?

1. SIRUGN

2. TgTedt g

3. TIRTER UG fgad!
4. YRdg g%

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21709]
2[Option ID=21710]

3[Option ID=21711]
4[Option ID=21712]

Sl. No.4
QBID:72004

Who among the following had translated Abhijnana Sakuntalam into German?

1. W.V. Goethe

2. Thomas Mann
3. G. Forster

4. Hermann Hesse

1) 1
(2) 2
3) 3
(4) 4

Fgfeiad # ¥ fou- e Tpacd o1 wHA H 3dIg [hal U1?

1. 39cg MY
2. 4IAg A
3. off BigeR
48989

1) 1
(2) 2




3) 3
(4) 4

1[Option ID=21713]
2[Option ID=21714]
3[Option ID=21715]
4[Option ID=21716]

Sl. No.5

QBID:72005
Which scholar drawing upon phenomenology postulates that in multilingual societies like India, people's consciousness is
the "translating consciousness’?

1. Sisir Kumar Das
2. Amiya Dev
3. G. N. Devy
4. A. K. Ramanujan

(1) 1
(2) 2
3) 3
4) 4

fafaiad o € o fagm A 9t are © g8 sifiruron afquifed @1 & o6 YRd oY SguTdt 9amet 3 oF Yo YNGR da 8

1. AR pAR T
2. 3 ga
3.9 U, &dl
4.0 &, IHAH

(1 1

2) 2

(3) 3

@) 4

1[Option ID=21717]
2[Option ID=21718]
3[Option ID=21719]
4[Option ID=21720]

Sl. No.6
QBID:72006

In which school does the distinction between "comparative literature” and “general literature” remain influential during the
early period?

1. The French School
2. The American School
3. The Constance School
4. The Tel Aviv School

1) 1
(2) 2
3) 3
(4) 4




DI ° WUEH (%hd) URIHS GR H "ga-idid Siigd” 3R UM Hiigd” o did [dHG gl dRdl g HR THIGHRI 61 6 ?

1. g Wpd
2. @ T

3. e @
4. T 3(did Tpad

(1) 1
) 2
3) 3
(4) 4
1[Option ID=21721]
2[Option ID=21722]

3[Option ID=21723]
4[Option ID=21724]

Sl. No.7
QBID:72007

Who defined modernity as * the transitory, the fugitive, the contingent, the half of art, of which the other half is eternal and
immutable"?

1. Calinescu
2. Baudelaire
3. Habermas
4. Kant

OR!
() 2
(3) 3
(4) 4

T SyHHdl &1 38 THR I TRYINT fhal 8- AT (Y1), &R Sell &1 Hufer oy guwr i Ayd 3R Ffder

®

1. DA
2. 98
3. BRAN
4, P

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21725]
2[Option ID=21726]

3[Option ID=21727]
4[Option ID=21728]

Sl. No.8
QBID:72008

What is your approach of thinking when you read a story about a girl and you say’ this girl is deeply attached to her father’
and then a psychologist comes and tells you that it is Electra / Oedipus complex you are talking about ?

1. Parallelism

2. Inter textuality

3. Interdisciplinarity
4. Influence study

1) 1




2) 2
3) 3
(4) 4

W 37 e TSP! B a1 H Pl Ugd & Ol 3T 71 SRHIv Bidl € 3R o 10 $Ed & [ 39 dga! 3! 30 fUar & g
A & 3R aH U AHidqI-d SHTHR ATTD! SdTdl & [ 98 fordd aX H Y 5d1 36 & 98 godcl/ 3fedd A 4 § 7

1. GHHFIRAG
2. Jaeurdiaan
3. RS (fAyg®)

4. UHIF HHdq

1)
(2)
(3)
(4)

A W N R

1[Option ID=21729]
2[Option ID=21730]
3[Option ID=21731]
4[Option ID=21732]

Sl. No.9
QBID:72009

Which among the following thematic units recurs frequently and does not describe the entire plot?

1. Situation
2. Theme
3. Motif

4. Type

1)
(2)
(3)
(4)

A W N R

Frafafed o @ &1 O e W) 39150l sRER TREd sl & SR G HYHE &1 faawor 76l & 87

1. Rl

2. o[ fdug)

3. HIUUE (@UHS Eie)
4. UBR

1)
(2)
(3)
(4)

A W N R

1[Option ID=21733]
2[Option ID=21734]
3[Option ID=21735]
4[Option ID=21736]

Sl. No.10
QBID:72010




What would you call the theory that interprets literature within a semiotic frame of reference, on the basis of general
operation of laws in a communication system?

1. The polysystem theory

2. The linguistic theory

3. The symbolic theory

4. The communication theory

OR!
(2) 2
3) 3
(4) 4

1T 39 fagid o g 9 § 9 S {6t T suawyt &Y (@ AN & 9 w=eE & S1YR R S & 9ediagq 6id &
iR T1fed & Are &3 &1 Ua19 $dl 67

1. Sgodaey] [gid
2. HuE fagid
3. W g0
4. Ty fagia

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21737]
2[Option ID=21738]

3[Option ID=21739]
4[Option ID=21740]

Sl. No.11
QBID:72011

Identify the works of Yaksa among the following:

1. Nirukta and Nighantu
2. Ashtadhyayi

3. Yog sutra

4. Mahabhashya

1) 1
(2) 2
3) 3
(4) 4

Fafaiad & @ a°e ®1 @fd X B Tgdi;

1. F¥ed Td fgog
2. SpTEgrEt
3. JTgA

4. HeTH®]

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=21745]
2[Option ID=21746]




3[Option ID=21747]
4[Option ID=21748]

Sl. No.12
QBID:72012

Who states "All texts are in conversation with other texts"?

1. Julia Kristeva
2. Roland Barthes
3. Rene Wellek
4. Jacques Derrida

1)
(2)
(3)
(4)

A W N R

Ug foud! 3faa g il T (Q&adh) o= Uyl & g1y daig | g

1. Jfer fepear
z.ﬁﬁ'@ﬁ

3.3 gu®
4. 9@ el

1)
(2)
(3)
(4)

A W N R

1[Option ID=21749]
2[Option ID=21750]
3[Option ID=21751]
4[Option ID=21752]

Sl. No.13
QBID:72013

The process of recreating and presenting an existing work in a way which draws a new meaning is known as:

1. Influence
2. Borrowing
3. Imitation
4. Adaptation

1)
(2)
(3)
(4)

A W N R

Tl U i | Hiolal (<) T GATeid & Ud Wi & o1 Wishdl, o U =41 oY Havaal 51, 39 39 ©0 H &l
Gl'lT‘ﬂ%:

1. UHId
2.34UR

3. 3HI
4, TG

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=21753]
2[Option ID=21754]
3[Option ID=21755]
4[Option ID=21756]

Sl. No.14
QBID:72014

Which of the following langauges came to India from other parts of the world?

1. Arabic

2. Urdu

3. Turkish

4. Arabic, Persian and Turkish

(1)
(2)
(3)
(4)

Frafarad O 9 oF-37 Y9 3% & 33 Ui d URd | o 82

1. 3l
2.3%

3. gl
4. 34!, BRYUI Ud gl

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=21757]
2[Option ID=21758]
3[Option ID=21759]
4[Option ID=21760]

Sl. No.15
QBID:72015

Which of the following is a work on Tamil poetics?

1. Rasgangadhara
2. Tolkappiyam

3. Dhvanyaloka

4. Meghdoota

1)
(2)
(3)
(4)

fafaiad o 9 ®F afid H1oaRd TR U6 $fd (a0 & 7

A W N R

1. THITER
2. diaeimas
3. SFTAIE
4. Hogd

1)
(2)
(3)
(4)

A W N R




1[Option ID=21761]
2[Option ID=21762]
3[Option ID=21763]
4[Option ID=21764]

Sl. No.16
QBID:72016

Which of the following could describe the influx of new words into English after the Norman conquest of 10667

1. Diachronic study
2. Synchronic study
3. Descriptive study
4. General study

(1)
(2)
(3)
(4)

A W N R

ofeRad araam=i 8 9 ®H 1066 3. @1 M- {990 & 916 U YW H 310 73 Weg & SFTHA &1 g0 &2 I&dl 6 ?

1. PICIR D HTT
2. Uh DD g
3. AUATES AT
4. MG AT

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21765]
2[Option ID=21766]

3[Option ID=21767]
4[Option ID=21768]

Sl. No.17
QBID:72017

Who claims that translation is a Roman invention?

1. Anton Popovic
2. Eugene Nida
3. George Steiner
4. Eric Jacobsen

1) 1
(2) 2
3) 3
(4) 4

Fofefed o @ feoe o faran & 76 W (3r8T6) U6 I0H TR § 2

1. 3fia Uifas
2. gui 138l

3. e ®3 R
4. 3R® gibeg

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=21769]
2[Option ID=21770]
3[Option ID=21771]
4[Option ID=21772]

Sl. No.18
QBID:72018

Which of the following authors spent most of his life in the court of Khilji and Tughlaq rulers?

1. Rahim

2. Amir Khusro
3. Raskhan

4. Nizami

(1)
(2)
(3)
(4)

A W N R

Fafafed daal & € ferge = e @1 s 999 Raael iR gae Joel & ear d adid e 2

1.8

2. R gt
3. 37q@H

4. gt

1)
(2)
(3)
(4)

A W N =

1[Option ID=21773]
2[Option ID=21774]
3[Option ID=21775]
4[Option ID=21776]

Sl. No.19
QBID:72019

Who is the author of Aag Ka Darya?

1. Ismat Chugtai
2. Qurratulain Hyder
3. Usha Priyamvada
4. Mridula Garg

1)
(2)
(3)
(4)

A W N R

3T BT &g 1 oia- faea faear?

1.3@3?@%
2. PG BaX
3. 39T figaar

4. gl T

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=21777]
2[Option ID=21778]
3[Option ID=21779]
4[Option ID=21780]

SI. No.20
QBID:72020

In Fakirmehan's Chhamana Athaguntha the landlord excercises his tyranny over:

1. a destitute schoolmaster
2. a poor weaver couple

3. a paraplegic fisherman
4. an outcast widow

1)
(2)
(3)
(4)

A W N R

B RHIEA & BHT H37S H, THIGR U+ AR &1 FaFT fddh HUR Bl o

1. = AP R
2. 79 Jamel U W
3. AhAR HEHN IR

4. 9gspd lAyaT W

1)
(2)
(3)
(4)

A W N R

1[Option ID=21781]
2[Option ID=21782]
3[Option ID=21783]
4[Option ID=21784]

Sl. No.21
QBID:72021

Which of the following thinkers discussed the "incapacity for conversation®?

1. H. R. Jauss

2. Martin Buber

3. H. G. Gadamer

4. Martha Nussbaum

1)
(2)
(3)
(4)

afefad foare! ° O fge adian & sadar R fGar-5ust fear g2
1. T4, 3R, T3 9

2. |Iféq oa
3. T, O, Mem

4. 71t gHEm

A W N R

1 1
2) 2
3) 3




(4) 4

1[Option ID=21785]
2[Option ID=21786]
3[Option ID=21787]
4[Option ID=21788]

Sl. No.22
QBID:72022

Which of the scholars mentioned below produced the first complete translation of the Bible into English?

1. St. Paul

2.5t Jerome

3. John Wycliff
4, Martin Luther

(1)
(2)
(3)
(4)

Fufaiad fagrr 9 U fou- agea @1 iUl § gauys quf srarg f6ar 2
1. g Uid
2. Ye SR
3. 9 dRfEE
4. A1 PR

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=21789]
2[Option ID=21790]
3[Option ID=21791]
4[Option ID=21792]

Sl. No.23
QBID:72023

Who terms postmodernism as "incredulity toward metanarratives"?

1. Jurgen Habermas

2. Jean Francois Lyotard
3. Charles Baudelaire

4. Fredric Jameson

1) 1
(2) 2
3) 3
(4) 4

Fafafed o @ fe W snyaanre & -sfdemerH & ufd doe & 9§ sifiega e g 2

1. 99 gaEH
2. =1 Wit |iers
3. 91 dlGaa]
4. S o

(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=21793]
2[Option ID=21794]
3[Option ID=21795]
4[Option ID=21796]

Sl. No.24
QBID:72024

In which of the following texts did Rabindranath Tagore criticize the Swadeshi movement?

1. Raja

2. Sesher Kabita
3. Jogajog

4. Ghare Baire

11
(2) 2
3) 3
(4) 4

Fafafad 79 5 O food Wisay SR = Wzl Higiad of aT &l g ?

1. T

2. I Pfaar
3. ST
4. TG

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21797]
2[Option ID=21798]

3[Option ID=21799]
4[Option ID=21800]

Sl. No.25
QBID:72025

Jnaneswari was a commentary on the

1. Gita

2. Rigveda

3. Kathopanisad
4. Ramayana

(1) 1
(2) 2
(3) 3
(4) 4

Ft FafafRea | o dar 4

1. Tiar
2. Flag
3.

4. JTHET

1 1
) 2
3) 3




(4) 4

1[Option ID=21801]
2[Option ID=21802]
3[Option ID=21803]
4[Option ID=21804]

Sl. No.26
QBID:72026

Which of the following poets writes in Nepali?

1)
(2)
(3)
(4)

1. Anjum Hassan

2. Desmond Kharmaphlawng
3. Bhanubhakta

4. Lalzuia Colney

A W N R

gfRad o ¥ 98 7E® @M & ol Huic] Y191 H @ didl & :

1)
(2)
(3)
(4)

1. 375 B9

2. 39iE wuwI
3. YIHE

4. Tllciwigdl DIt

A W N R

1[Option ID=21805]
2[Option ID=21806]
3[Option ID=21807]
4[Option ID=21808]

Sl. No.27
QBID:72027

What is intertexuality?

1)
(2)
(3)
(4)

1. Interrelation of texts

2. Separation of one text from other
3. Creating a new text

4. Origin of new literary text

A W N R

SR-udlaar d g ?

1)
(2)

1. U781 § SfqR-TrEw

2. TS U3 & 3 ° GY® Sl
3. 90 U8 & T BT

4. U Aigid® U16 &1 3¢H

1
2




3) 3
(4) 4

1[Option ID=21809]
2[Option ID=21810]
3[Option ID=21811]
4[Option ID=21812]

Sl. No.28

QBID:72028
Which philosopher labelled the modes of reading, exemplified by Marx, Nietzsche and Freud, as “the hermeneutics of
suspicion”?

1. Friedrich Schleiermacher
2. Wilhelm Dilthey

3. E. D. Hirsch

4. Paul Ricoeur

1)
(2)
(3)
(4)

A W N R

fFrafied ¥ 3 59 arite 3 7=, 5@ ok BEs & =5id 3 e of [T &f 4es o I diamer @ gfeaw of®
i) & U1 el 82

1. TheR® ATTHDY
2. foem s
3.3.3.89

4. 71q @I

1)
(2)
(3)
(4)

A W N R

1[Option ID=21813]
2[Option ID=21814]
3[Option ID=21815]
4[Option ID=21816]

Sl. No.29
QBID:72029

The Barahmasa is a specific poetic form. Which of the following works do not contain this poetic form?

1. Neminath Chaupai
2. Padmavat

3. Ramcharitmanas
4. Sannehrasay

1)
(2)
(3)
(4)

A W N R

Te@Tel d Ay S & ©U H aReHMr & 3y ®iadl gR1 a1 T €| Fgfaiad § d 69 108 § aReg T8 87

1. Y g
2. GIIad

3. UHERTHTY
4. g g




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21817]
2[Option ID=21818]

3[Option ID=21819]
4[Option ID=21820]

Sl. No.30
QBID:72030

Which scholar gave the definition "Prajna Navonmeshshalini"?

1. Abhinavagupta
2. Anandavardhan
3. Bhattataut

4. Kuntaka

1)
(2)
(3)
(4)

A W N R

* IR FarEuEnfe ufayr - gg Ry feg e gr1 & i g 2

1. AT
2. HFEdSA
3. Yedid
4, pdd

1)
(2)
(3)
(4)

A W N R

1[Option ID=21821]
2[Option ID=21822]
3[Option ID=21823]
4[Option ID=21824]

Sl. No.31
QBID:72031

In which nikaya of the Suttapitaka is the Therigatha a part?

1. Digha Nikaya

2. Majjhima Nikaya
3. Khuddak Nikaya
4. Anguttara Nikaya

(1)
(2)
(3)
(4)

A W N =




UMYl gofues' & fog e &1 4 &

1. Gig Harg

2. AfcsA A&
3. Gew @
4. TR [APTg

1)
(2)
(3)
(4)

A W N R

1[Option ID=21825]
2[Option ID=21826]
3[Option ID=21827]
4[Option ID=21828]

Sl. No.32
QBID:72032

Which of the following is known as Baudhgeeta?

1. Suttanipata

2. Dhammapada

3. Jataka

4. Abhidhammapitaka

1)
(2)
(3)
(4)

A W N R

dlg fars Fud sH-A Hlaara g 2
1. Galge

2. UG
3. Gidd
4. HemiuseE

1)
(2)
(3)
(4)

A W N R

1[Option ID=21829]
2[Option ID=21830]
3[Option ID=21831]
4[Option ID=21832]

Sl. No.33
QBID:72033

In which book do you find "Chitrasutra” which is centered on the relations between the arts.

1. Vishnudharmottara Purana
2. Vishnu Purana

3. Agni Purana

4. Markandeya Puran

1 1
) 2
3) 3




(4) 4

Halsl & sfa:vdy W disd g feadyHg 2

1. [aWeETae gRroy
2. faw gRro

3. T JIT
4. Hitbsq RI07

1)
(2)
(3)
(4)

A W N R

1[Option ID=21833]
2[Option ID=21834]
3[Option ID=21835]
4[Option ID=21836]

Sl. No.34
QBID:72034

In which Malayalam poet do we find a synthesis of the Chayavadi Hindi poets, namely Jaishankar Prasad, Suryakant Tripathi
Nirala and Sumitranandan Pant?

1. Vallathel Narayan Menon
2. Ulloor Parmeswar Ayyar
3. Kumaranasan

4. Rajaraj Verma

(1) 1
) 2
3) 3
(4) 4

SHIEIG] fgg] diadi- SFRibR YHTe, Yhdid Hurdl HR1er ud YHEre Ud - & U=y fod Acdiad oid H Udbd Uil &l ¢-

1. eddrd AREY 394
2. IR TRHYR TR

3. TARATEM
4. ISR gHi

1)
(2)
(3)
(4)

A W N =

1[Option ID=21837]
2[Option ID=21838]
3[Option ID=21839]
4[Option ID=21840]

Sl. No.35
QBID:72035

How has Croce described Comparative Literature?

1. Literary criticism
2. Literary theory

3. Literary history

4. None of the above

1) 1




2) 2
3) 3
(4) 4

B = FUfed ey @ [69 U | saranfad &

1. TigdrarE
2. difgd fargid
3. wifgdider™
4. 379 O fedt wu g 98

1)
(2)
(3)
(4)

A W N R

1[Option ID=21841]
2[Option ID=21842]
3[Option ID=21843]
4[Option ID=21844]

Sl. No.36
QBID:72036

Which of these pairs are mismatched?

1. Gujarati - navalkatha
2. Marathi - Kadambari
3. Kannada - novel
4. Hindi - upanyas

1) 1
(2) 2
(3) 3
(4) 4
S-G9 g Ak e 8 2
1. 7[RI - Taq @Yl
2. TRIS] - BIea!
3. ®9S - Aldd
4. f&dl - U™
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=21845]
2[Option ID=21846]
3[Option ID=21847]
4[Option ID=21848]

Sl. No.37
QBID:72037

Which of the following scholars of poetics has focused on the Mahabharata as kavya

1. Anandvardhan
2. Vaman

3. Ahbhinavgupta
4. Bhoj

1) 1




2) 2
3) 3
(4) 4

g YRdT Segadl 3 HETHRT & $ro0 U4 R 33w aom G g 2

1. HHGaH=
2. e

3. AT
4. HIS

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21849]
2[Option ID=21850]

3[Option ID=21851]
4[Option ID=21852]

SI. No.38
QBID:72038

In which country of South-East Asia was the long version of the Mahabharata written under the name of Bharat Yudh, when
the medieval texts in Indian languages were shorter versions of the epic?

1. Indonesia
2. Java

3. Sumatra
4. Cambodia

(1) 1
(2) 2
3) 3
(4) 4

7 g H YR Hisl H FerHRa @1 S Syl g gt T g, fivg afé od uRrn § 4R 3 A | d90f #eTHRd ST @
TR PIod-a1 §s o | G401 Id U1 &1 98 G SH-A18 ?

1. SSHERET
2.t
3. gHE
4. Farsar

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21853]
2[Option ID=21854]

3[Option ID=21855]
4[Option ID=21856]

Sl. No.39
QBID:72039




Bharatendu Harischandra and Agha Hashr Kashmiri translated only one play of Shakespeare into Hindi. Which is it 7

I

1. Hamlet
2. Macbeth
2
-

The Merchant of Venice

4, Julius Caesar

(1) 1
(2) 2
3) 3
(4) 4

YRdg SREF SR T 8% HRANI = YU & U ol "A1eh Bl [6al § ©UlaR [l ¢ | T8 Ale® BH-91 87
. Haay
. :_ '-E\i ;E E _: E

O

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21857]
2[Option ID=21858]

3[Option ID=21859]
4[Option ID=21860]

Sl. No.40
QBID:72040

Which of the following scholars does not consider the Mahabharata as a growing/ developing epic?

1. Humboldt
2. Oldenburg
3. Holtzman

4

. Winternitz

(1) 1
(2) 2
3) 3
(4) 4

FH-1 fdg FerRa el tiedaH W I ad & -

AW
a, 7
Ce -
al a4

A

2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21861]
2[Option ID=21862]

3[Option ID=21863]
4[Option ID=21864]




Sl. No.41
QBID:72041

Among the following which two events occured in the year 1910 in Indian Literature?
A. Publication of Padmamali, an Odia text by Umesh Chandra Sarkar.

B. Publication of Chandrakanta, a Hindi fiction by Devakinandan Khatri.

C. A regular Printing Press, Veshnath Press, was set up in Kashmir.

D. Publication of Gitanjali by Rabindranath Tagore

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and Conly
4.B and D only

(1)
(2)
(3)
(4)

A W N R

Fafafad 9 @F-1 g 9ea1¢ YRdig gifg o 7 ad 1910 © Jafdd g 2

A. TTH &1 YBTEH, SHIES WRBR gRI [ARad SfEar 4N &1 U [ |
B. TR~ B YDIRH, Gadd] "ol Al aR f[afad 0P $Y-Uifed |
C. 39 U, e Huild geur STurgH] S fds HRER H wiitd fasar mar 41

D. Y51 SR g1 fafaa Faiaferar s |
i< fEu U fAdeul # O UEt TR &1 90 Sifed ;

1. & A AR B
2.%aa C 3R D
3. HaAA IR C
4. %38 AR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21865]
2[Option ID=21866]
3[Option ID=21867]
4[Option ID=21868]

SI. No.42
QBID:72042




In which of the following texts do we find the story of Surpanakha?
A. "Reunion” by Volga

B. “Rajkumari Kamaballi* by Nabaneeta Dev Sen

C. "Forest” by Ambai

D. "Sita’s Letter” by Kumudini

Choose the correct answer from the options given below:

1. A and Conly.
2. A and B only.
3.B and C only.
4.Cand D only.

1) 1
(2) 2
(3) 3
(4) 4

frafafad seif-al = 4 o g4 givrar &t oyt firedi g 2
A, g I g

B. Fa-iidT aa U Iud IGHR! HHEc

C. 3@ ATd "BRE"

D. oI Iad Hiarg dex

il T 7Y fadhedl | 9 el IR B 98 Bifod -

1. Had A AR C
2.%ad A 3R B
3. Haa B AR C
4. PHaACARD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21869]
2[Option ID=21870]

3[Option ID=21871]
4[Option ID=21872]

Sl. No.43
QBID:72043




Which of the following texts are composed as advice to princes
A. Dasakumaracarit

B. Pancatantra

C. Pandnamah

D. Amuktamalyadu

Choose the correct answer from the options given below:

1. A and B only.
2. A and C only.
3.B and D only.
4. B and C only.

(1)
(2)
(3)
(4)

A W N R

frfeiad 94l 7 o 94l &1 91 Iep ARt @t e & fow &1 w22
A. CIPHRENRT

B. Ggdd

C. U575

D. SHFTHTAIG

i< feu 7Tu fadeal | 9 9l 3wk &1 904 Bl

1. & A AR B
2.FHad A 3R C
3. ®ad B AR D
4.%aaB AR C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21873]
2[Option ID=21874]
3[Option ID=21875]
4[Option ID=21876]

SI. No.44
QBID:72044




In which of the following texts do we find the story of Bharata?
A. Abhijnana Sakuntalam

B. Mahabharat

C. Kathopanisad

D. Raghuvansham

Choose the correct answer from the options given below:

1.Cand D only.
2. A and B only.
3.B and D only.
4. A and D only.

1) 1
(2) 2
(3) 3
(4) 4

fFrafafad i 5  fo 34l & 55 wRd @t g fadt 3
A. SIIEFIT T dcid

B. HETHIRT
C. FAUAEG

D. YYGIH
e fGu U fadheal & § U8l ITR @1 98 SIfe:

1. HadAC AR D
2.%ad A 3R B
3. ®ad B AR D
4. HIAA AR D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21877]
2[Option ID=21878]

3[Option ID=21879]
4[Option ID=21880]

Sl. No.45
QBID:72045




Who among the following had drafted the first manifesto of the Progressive Writers Association in India?

A. Saadat Hasan Manto
B. Premchand

C. Sajjad Zaheer

D. Mulk Raj Anand

Choose the correct answer from the options given below:

1. A and B only.
2. Cand D only.
3. B and C only.
4. A and D only.

1)
(2)
(3)
(4)

A W N R

FrafaRad H 9 fog yRd # wifaeiia e 99 & SI90ys &1 WRe dUR fhdr ol
A. HIGH g8 Hel

B. UHER

C. g=1g WeR

D. edhilS HHG

i fau U faehedl # € W81 SR &l 90 Sl

1. Had A AR B
2.%ad C AR D
3. Haa B AR C
4. Had A 3R D

1)
(2)
(3)
(4)

A W N R

1[Option ID=21881]
2[Option ID=21882]
3[Option ID=21883]
4[Option ID=21884]

Sl. No.46
QBID:72046




Who among the following contributed to the idea of World Literature?
A. Thomas Mann

B. F. W. Schlegel

C. ). G. Herder

D. Hermann Hesse

Choose the correct answer from the options given below:

1. A and B only.
2. Cand D only.
3. B and C only.
4. A and D only.

1)
(2)
(3)
(4)

A W N R

frafaiad 9 4 i fay wifew &1 uron # giver fear o1
A .Y AH

B . U S&cg Wil

C. o ol g8¥

D. g4 &d

i< feu 7Y fashedl | 9 &l I B 994 BT

1.Had A AR B
2.%ad C AR D
3. Haa B AR C
4. Had A 3R D

1)
(2)
(3)
(4)

A W N R

1[Option ID=21885]
2[Option ID=21886]
3[Option ID=21887]
4[Option ID=21888]

Sl. No.47
QBID:72047




Which among the following texts are adaptations of Aesop's Fables in Indian Literature?
A. Bala bodh Muktavali in Marathi

B. Nitikatha in Bengali

C. Lipimala in Hindi

D. Prasnottaravali in Gujarati

Choose the correct answer from the options given below:

1.B and C only.
2.Cand D only.
3. A and D only.
4. A and B only.

1) 1
(2) 2
(3) 3
(4) 4

o

YR Hiigd | FEfafad 3 9 @F 9 7~ tgu &1 Hifd Suel &1 Suia g
A . ERISTH a7 gl gadrac

B . gl H Hifa dur

c . f&ar | fararer

D. T[T | GaiRiact

e fGu U fadheal & § U8l ITR @1 98 SIfe:

1. Haa B AR C
2.%aa C 3R D
3. HAAA AR D
4. PIAA AR B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21889]
2[Option ID=21890]

3[Option ID=21891]
4[Option ID=21892]

Sl. No.48
QBID:72048




Which of the following notions does Dionyz Durisin's theory of inter literariness critique?
A. Traditional notions of influence in comparative studies.

B. Jakobson's notion of intersemiotic translation.

C. Andre Lefevere’s notions of refraction and rewriting.

D. Theories of reception that overlook creativity and agency of receiving culture.

E. William Fawley's notion of recodification

Choose the correct answer from the options given below:

1. A and D only.
2.B and C only.
3.Cand E only.
4. Cand D only.

1)
(2)
(3)
(4)

A W N R

fearie g gr Affa siax Tt e worelt & fogia Fefafed 3 ¥ oF § 7@ & 996Ee 87
A. TS AT J THE BT TLRFTG RO

B. U &8 gRI HIUd 3fdi- UdidTH® (3euibsiifesd) o

C. 3fis; s gRI Bidd 3UddH SR YHcd & YRUNY

D. IR & fhgia S Samr 3R sfiueia Sphd & JfHAY & Jusl Fd 6
E. fafcias Bid gR1 $1¥d THied & dd

i< feu 71u fasedl # 9 9l IR &1 904 Biferg

1.BaA A AR D
2.%aae AR C
3. Haq C HRE
4.%ad C AR D

1)
(2)
(3)
(4)

A W N =

1[Option ID=21893]
2[Option ID=21894]
3[Option ID=21895]
4[Option ID=21896]

Sl. No.49
QBID:72049




What does Andre Lefevere imply when he says that translation is the most obvious form of refraction?
A. Translation should be understood in terms of loss only.

B. Translation should be understood in terms of equivalence.

C. Translation is primarily a cross-lingual form of rewriting.

D. Translation represents a compromise between two cultural systems.

E. Translation should be understood using optics.

Choose the correct answer from the options given below:

1. A and B only.
2. A and E only.
3.B and E only.
4. Cand D only.

(1) 1
(2) 2
(3) 3
(4) 4

3Hfs; AhaR & SER 3dIe HUda- B 9aiiu® Yobe w4 ¢ | 3ua! AN 5 -

A MTITRUT (3FATE) 1 A & & ©1 H U 9ee

B. 3[dIG & YHcddl & & U H GHIH diey
C. 341G URiTE dR U &l Yeisf & §9 @ gHoed o
D. A5 WERIGal Qe caawiisll o sid HLHR o Uidd $edl o

E. 3aIG ! WTR (a9 SEHTd % GHeHT 9y
i feu e fasdheal 5 U U8l IR 94 -

1. Had A AR B

2. PIAAARE

3. Haa B ARE
4. BaACARD

(1) 1
) 2
3) 3
(4) 4
1[Option ID=21897]
2[Option ID=21898]

3[Option ID=21899]
4[Option ID=21900]

Sl. No.50
QBID:72050




What is Jonathan Culler's central argument in "Beyond Interpretation™?

A. Theories that followed new criticism tried to move "beyond interpretation” as their fundamental pre occupation.
B. Theories that followed new criticism and tried to move “beyond interpretation” failed partially.

C. Theories that followed new criticism and tried to move "beyond interpretation” succeeded completely.

D. Primary function of literary theory should be hermeneutic and not poetics.

Choose the correct answer from the options given below:

1. A and Conly.
2. A and B only.
3.B and D only.
4.Cand D only.

1)
(2)
(3)
(4)

A W N R

S DR @l o faais Sewen ° Sgig uiaT g 2
A. T8SId <l 19 AT (g i) BT S8R0 B SRed] & UL oflH &1 BITAR Bd
5. irsia < 79 TomeeAT (g fefeRiem) &1 SR o s 9 4 ored & W oH § % G|
C. fogid Sl 9a gardi=AT (g bl ies) ST SERu B Rl ¥ UL a6+ H Quid: 9hd 35|
D. Tifew i &1 URTS &1 SaRea el &ia WG g1 difeu|
i< feu e faweal 5 § 981 IR 9 -
1. HadA IR C
2.%dc A 3R B

3. WA B 3R D
4.%Had CAND

1)
(2)
(3)
(4)

A W N R

1[Option ID=21901]
2[Option ID=21902]
3[Option ID=21903]
4[Option ID=21904]

Sl. No.51
QBID:72051




Among the following, which two features are applicable to feminist criticism of popular romantic fiction?
A. The nature of its literary production and consumption

B. Analysis of the ideclogy of romance

C. Comparisons of different themes and conventions

D. Neutral and impartial divisions of genres

Choose the correct answer from the options given below:

1.Cand D only.
2. B and C only.
3. A and B only.
4. A and D only.

1)
(2)
(3)
(4)

A W N R

fFrafciad 7 € @ ¢ B de g w9 du-gied & ARiaK! - o 94 8 ?
A. 39 Hiefd® MG Ud 3UHRT & Ubid
B. I B [GERURT &1 fg=emu
c. faftr fawat gg St ot gaam
D. [genaif (@iferat ) & w@rvifa® ud ey Ay
i< feu e fasedl 4 9 981 IR 94 -
190 C AR D
2.5qa B R C

3. Bad A AR B
4. Had A AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=21905]
2[Option ID=21906]
3[Option ID=21907]
4[Option ID=21908]

Sl. No.52
QBID:72052




What is a multidisciplinary approach?

A. An approach which focuses on different disciplines at once
B. It proposes a traditional view to interpret a topic

C. It removes the boundaries between the emerging disciplines
D. It uses diverse perspectives to illustrate a topic

Choose the correct answer from the options given below:

1. A and B only.
2. A and D only.
3.B and D only.
4.Cand D only.

(1)
(2)
(3)
(4)

agfaudi SURH AT g 2

A. U UFT U & U4 i vl R sfa e gl

8. 78 forddt 2ifte (fawa) &1 fdavur 80 WA P& &1 &R Sa 8l
C. 48 IHRd (9 (3F[=I1EH) & &g A =g Hd1 g

D. g forddt 2ifte (fawa) &1 fgaer &7 2 fafay ufttien &1 vegd a1 &1
i fGu T fadeat & 9 9aE SUgad IR @ 994 Dot

1. & A AR B
2.Had A 3R D
3. ®ad B AR D
4. PHaACARD

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21909]
2[Option ID=21910]
3[Option ID=21911]
4[Option ID=21912]

SI. No.53
QBID:72053




According to Claudio Guillen which of the following reflect the formalist perspective on genres?
A. Historical evolutionist

B. Agonist

C. Sociological

D. Economical

Choose the correct answer from the options given below:

1.B and C only.
2. A and B only.
3.Cand D only.
4. A and D only.

(1)
(2)
(3)
(4)

A W N R

Flsdl A & 3uR Fofafad g § 9 &H-U 9l (fden) & SHeRarg! (\IHfwe) R 82

A. UfieTiye fgaraaml

B. Siaml

C. GHISEET

D. Sy (e )

i<l T 7Y fadhedl H 9 gl IR B 98 BT

1. Haa B AR C
2.%ad A 3R B
3. BAAC 3R D
4. HIAA AR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21913]
2[Option ID=21914]
3[Option ID=21915]
4[Option ID=21916]

Sl. No.54
QBID:72054




Who among the following used the concept of literary system in their critical approach?
A. David Damrosch

B. Claudio Guillen

C. Johann Peter Eckermann

D. Abel-Francois Villemain

Choose the correct answer from the options given below:

1.Cand D only.
2.B and C only.
3. A and B only.
4. A and D only.

1) 1
(2) 2
(3) 3
(4) 4

Fafafad o € fouq o= oifiefae Surm cfei) & aifiefdes yomed (e een) o sayron & var fear g 2
A Sfds s

B. Fanedl g

C. digH Ulex UTHRAM

D. Uaa- Wi facHH

i<l T 7Y fadhedl H 9 gl IR B 98 BT

1. HadAC AR D
2. %aaB 3R C
3. $dd A 3R B
4. HIAA AR D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21917]
2[Option ID=21918]

3[Option ID=21919]
4[Option ID=21920]

Sl. No.55
QBID:72055




American school of Comparative Literature emphasises on :
A Influence

B. Parallel studies

C. Cross civilization studies

D. Literature and other arts

Choose the correct answer from the options given below:

1. A and B only.
2.Cand D only.
3.B and D only.
4. A and D only.

(1)
(2)
(3)
(4)

A W N R

JaIETE e @I AR Wd Hyifbd By Redcdls -
A UG

B. AR AT

C. Ufd g srega

D. Hifed 3R wfeid waredl & iy

i fGu T fadeat & 9 9aE SUgad IR @ 994 Dot

1. & A AR B
2.%aa C 3R D
3. ®ad B AR D
4. HIAA AR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21921]
2[Option ID=21922]
3[Option ID=21923]
4[Option ID=21924]

Sl. No.56
QBID:72056




Which two among the following are based on Shakespeare's Comedy of Errors?
A. Bhranti Bilas

B. Marmayogi

C. Nanjudi Kalyana

D. Do Dooni Char

Choose the correct answer from the options given below:

1. A and Conly.
2.B and C only.
3. A and D only.
4.Cand D only.

1) 1
(2) 2
(3) 3
(4) 4

FafaRad 5 9 @ d &l YU & BHS! Sk WE W HYRd 87
A YT faerd

B. HHAN

C. ST By

D. Gl g AR

il T 7Y fadhedl | 9 el IR B 98 Bifod -

1. Had A AR C
2. %aa B3R C
3. HAAA AR D
4. PHaACARD

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=21925]
2[Option ID=21926]

3[Option ID=21927]
4[Option ID=21928]

SI. No.57
QBID:72057




Which two novels of Gopinath Mohanty deal with tribal life in Odisha?
A. Laya Bilaya

B. Dadi Budha

C. Managahirara Chasha

D. Amrutara Santana

Choose the correct answer from the options given below:

1.B and D enly.
2. A and C only.
3.Cand D only.
4. B and C only.

1) 1
(2) 2
(3) 3
(4) 4

T Higd & Fufdiad § @ o9 9 €l S S H SHwdY siad € d6fd 87
A. g fdoig

B. GTGI §&T

C. HFIeRR 91

D. 3HT¥ T

i< feu 7Tu fadeal | 9 9l 3wk &1 904 Bl

1. ®ad B AR D
2.FHad A 3R C
3. BAAC 3R D
4.%aaB AR C

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21929]
2[Option ID=21930]

3[Option ID=21931]
4[Option ID=21932]

SI. No.58
QBID:72058




Which of the following generic markers are true of all epices?
A, the establishment of a nation

B. the journey, real or allegorical, as a motif

C. third person narrative

D. a battle, real or allegorical as a structural unit

Choose the correct answer from the options given below:

1. A and Conly.
2.B and D only.
3.Cand D only.
4. A and B only.

(1)
(2)
(3)
(4)

A W N R

ofaRad ¥ @Y 9@ AR (e®) T4t ei@al & §R 3 Ud 9 &7

A TP Y B RGBT SEH

B. UF Hifew (AFHU) & U H aRaide I1 ©USIES arl

C. 30 I3Y gRT U 3R

D. UG UXa-Id® s & ©U § dRdld® 31 S USIHS 4G
o fGu U fadeat & 9 U8 IR @ 997 DI

1. Had A AR C
2.%adB ARD
3. BAAC 3R D
4. PIAA AR B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21933]
2[Option ID=21934]
3[Option ID=21935]
4[Option ID=21936]

SI. No.59
QBID:72059




Which of the following statements are true about Jagannatha, the theorist of Sanskrit poetics?
A. He wrote Rasagangadhara

B. He was a native of Kashmir, patronised by the Mughal Court.

C. He was a native of Andhra Pradesh, patronised by Shah Jahan

D. He wrote Kavyadarsa

Choose the correct answer from the options given below:

1.B and C only.
2. A and B only.
3.Cand D only.
4.B and D only.

(1)
(2)
(3)
(4)

A W N R

Fgfeiad H U DY &Y Wpd HIURR & NG IddR =Y & aR H el 87
A. 9 THER & TEd Y|
B. 3 HYIR & Mo ¥, @ T eiar = wsd & am

c. 9 3y Uew & ard o, st enesgl - uyy f&ar un
D.d PG & aEd U
i< 5T U fAdeul # O TEt ITR &1 90 Dol

1. Haa B AR C
2.%ad A 3R B
3. BAAC 3R D
4. %38 AR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21937]
2[Option ID=21938]
3[Option ID=21939]
4[Option ID=21940]

SI. No.60
QBID:72060




Which of the following characterstics describe the organic plurality of languages?
A. There are many languages with well defined boundaries between them

B. Language is a fixed abstract entity

C. The boundaries between languages are fuzzy

D. Interlitrariness characterises texts written in a plurilingual context

Choose the correct answer from the options given below:

1.Cand D only.
2.B and C only.
3. A and D only.
4. A and B only.

1) 1
(2) 2
(3) 3
(4) 4

Fofafea o @ @ faant ymrel @1 Jfes sgaal &1 aufa Sl 87
A, 191211 & &< TP GiE e Bl )

B. Y9I U FYiRd 3 dd &

C. HTSTSH o s ST gjeredi 5

D. SgHIft® Ty # fordl 75 il wwrsi # sfavyrad gaiid g1

i< feu 7Tu fadeal | 9 9l 3wk &1 904 Bl

1. HadAC AR D
2. %aaB 3R C
3. HAAA AR D
4. PIAA AR B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=21941]
2[Option ID=21942]

3[Option ID=21943]
4[Option ID=21944]

Sl. No.61
QBID:72061




Which of the following texts are adaptations of Shakespeare's Macbeth?
A, Kodumkattu

B. Throne of Blood

C. Mendoza

D. The Resistible Rise of Arturo Ui

Choose the correct answer from the options given below:

1. A and B only.
2.B and C only.
3.Cand D only.
4.B and D only.

(1)
(2)
(3)
(4)

A W N R

FufiRad # U @F U Y80I & dday & oo (TSP) 82
A. BlIgHHC

B. Y1 31 &7

C. #ara

D. & IRETT U5 1 AR Fg

i< feu 7Tu fadeal | 9 9l 3wk &1 904 Bl

1. & A AR B
2.%aaB AR C
3. BAAC 3R D
4.%dq B AR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21945]
2[Option ID=21946]
3[Option ID=21947]
4[Option ID=21948]

Sl. No.62
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Which two of the following fall in the category of Dalit autobiography?
A. Angor

B. Laburnum for My Head

C. Karukku

D. Joothan

Choose the correct answer from the options given below:

1. A and Conly.
2.B and D only.
3.Cand D only.
4. A and D only.

(1)
(2)
(3)
(4)

A W N R

ofoRad & 9 @d! &l 3914 afod ey & 9ol T 3t g7
A SR
B. TaXH BN A5 68

C. PYFd

D. Fo+
e fGu U fadheal & § U8l ITR @1 98 SIfe:

1. Had A AR C
2.%ad B 3 D
3. BAAC 3R D
4. HIAA AR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=21949]
2[Option ID=21950]
3[Option ID=21951]
4[Option ID=21952]

Sl. No.63
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In Premchand's "Sadgati”, what is the inter text?

A. Lack of empathy

B. Caste discrimination

C. Inhumanity

D. Exploitation

E. Oppression

Choose the correct answer from the options given below:

1. A and C only.
2.B, Cand D only.
3.A B, Cand E only.
4. A C DandE only.

(1)
(2)
(3)
(4)

A W N R

UHeG @1 el It H Hig Soiuie |l g ?

A FaETRIdl

B. OIfd - W&

C. AT

D. TITH0]

E. HAER

i< f&u 7 fadeal # 4 981 IR I -
1.Haa A 3R C
2.%ae B, C AR D

3. BAAA, B, C AR E
4. ®BAAA, C, D3IRE

1)
(2)
(3)
(4)

A W N R

1[Option ID=21953]
2[Option ID=21954]
3[Option ID=21955]
4[Option ID=21956]

Sl. No.64
QBID:72064




Which of the following statements are true of Nath literature?
A. Opposition to varnashram

B. Yogic practice

C. Purity of ritual

D. Praise of the guru

E. Use of panchmakara

Choose the correct answer from the options given below:

1. A and C only.

2. A, B and C only.

3. A and E only.

4. A, B, Cand D only.

1)
(2)
(3)
(4)

A W N R

qY - F4ey T R I ?
A, TUIYH FT &Ry
B. TR

C. 3R S Yl

D. 7% HigH

E. TIHSR BT GHLA

i< feu U fadeal # 4 981 3w g -

1. BT A AR C
2.FHaAA, B AR C
3. HaaA ARE

4.A B C3RD

1)
(2)
(3)
(4)

A W N =

1[Option ID=21957]
2[Option ID=21958]
3[Option ID=21959]
4[Option ID=21960]

Sl. No.65
QBID:72065




Which are the four alankaras mentioned in the Natya Shastra?
A, Yamaka

B. Slesa

C. Upma

D. Rupaka

E. Dipaka

Choose the correct answer from the options given below:

1. A B, Cand D only.
2.B, C, D and E only.
3.A B, Dand E only.
4. A, C DandE only.

1)
(2)
(3)
(4)

A W N R

FIeTIRAH 1 9R HABRI B Il 8l J HAPR DAY ?
A TA®
B. ToI¥
C. 3uHl
D. EUD
E. CIUh
i<l feu 1u fadedl & 4 981 SR g -
1.BaUA, B, C IR D
2. %90 B, C, D ARE

3.HddA,B DIRE
4. BAAA C DIARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=21961]
2[Option ID=21962]
3[Option ID=21963]
4[Option ID=21964]

Sl. No.66
QBID:72066




Match List | with List 11

List | List Il
A. Macaulay's Minute on Education l. 1840
B. First linguistic survey of India 1. 1835

C. Setting up of linguistic - provinces commission |lll. 1894

D. Minute concerning vernacular education V. 1948

Choose the correct answer from the options given below:

TA-LE-IV,C-1I,D-
2ZA-ILB-NL,C-1L,D-1V
3.A-IV,B-LC-1,D-1
4 A-1ILB-1L,C-1IV,D-1

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

gl -l ol -l
A. FI&T R AdId & dRig 1. 1840
B. {Id BT TYH HTURR Jd&m0 II. 1835
C. HISTT Hid SRR B RITGHT IIl. 1894
D. G2t HruT H a1 § wwsiid g IV. 1948
d feu e fadeal # 4 Ugl 3R gHU :

TA-LB-IV,C-NIL,D-1
ZA-ILB-NL,C-1,D-1V
3.A-IV,B-LC-1,D-1
AA-1L,B-1,C-1V,D-1

1)
(2)
(3)
(4)

A W N =

1[Option ID=21965]
2[Option ID=21966]
3[Option ID=21967]
4[Option ID=21968]

Sl. No.67
QBID:72067




Match List | with List Il

List |

List 11

A. Increasing rapidity of literary traffic I. Dionyz Durisin

. . . . . Il. Pascale
B. World literature is a structured system of literary phenomena genetically or typologically related c

asanova

C. Dynamics of the literary system can be explained through rivalries between nations and their national ,
i ll. Franco Maretti
literatures
D. Distant Reading IV. Goethe

Choose the correct answer from the options given below:

T.A-ILBE-IL,C-1V,D-1
2ZA-NLB-1,C-1V,D-1
3A-IWV,B-LC-1,D-1I
A A-LB-IV.C-1I,D-1I

1)
(2)
(3)
(4)

A W N R

T & Ty g 11 &1 e sife

| el
A W0 SERTEH (2ftew) &1 gania @) 3 gel | S

B. fay wifgw, Wil uRbe & Uh WeHds odaw] § o HdRid a7 9 a1 &y fagH 9 defed

) II. UTh e BIHIET
C. Tfefde sgaw @1 71fd P BT Td I7ep AP Wil o aid Wiaaiadrei 3 sOReaTdd a1 o Sdar a1 11, ol ARgl

D. TR U Iv. ey

i< feu T fadedl § 1 T2 IR $1 994 Sifed -

TA-ILB-IILC-1IV,D-1
2ZA-NLB-1,C-1IV,.D-1
A-VEB-LC-1L,D-1I
4A-LB-IV.C-1,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=21969]
2[Option ID=21970]
3[Option ID=21971]
4[Option ID=21972]

Sl. No.68
QBID:72068




Match List | with List 11

List | List 11

A. Sheikh Farid . Love Poetry

B. Namdev II. Sufi Poetry

C. Waris Shah [1l. Heroic Poetry|
D. Shah Muhammad |IV. Bhakti Poetry

1)
(2)
(3)
(4)

A W N =

Choose the correct answer from the options given below:

T.A-WB-U,C-1,D-1
2ZA-ILBE-IV,C-1,D-1I
3.A-ILB-LC-1L,D-1V
AA-1L,B-1,C-1V,D-1

Tl -1 B gt -1l ¥ gAfd Biforg -

T -| T -1l

A 2R BIG . U9 &1

B. AMad 1. B! BT
C. Ig I8 1. IR HT1H

D. T8 g™ V. Hidkd BTed

1)
(2)
(3)
(4)

A W N =

1[Option ID=21973]
2[Option ID=21974]
3[Option ID=21975]
4[Option ID=21976]

i< fGu U faweul § ° T8l IR @1 904 DI

TA-W,B-IILC-1,D-1
2ZA-1LB-IV,C-|,
3.A-LEB-1L,C-1
4 A-1L,B-NL,C-1V,D-1

D-1
D- 1V

Sl. No.69
QBID:72069




Match List | with List 11

List |

List 1l

A. George Steiner

. Translation as Vampirization

B. Haraldo de Campos

Il. Translation as the penetrator of the source text

C. G.N. Devy

lIl. Translation as a form of violence

D. Anuradha Dingwany and Carol Maier

IV. Translating consciousness

TA-LE-ILC-IV,D-1
2ZA-NLB-IV,C-1I,D-1
3A-IV,B-ILC-1L,D-I
4AA-1LB-1LC-IV,.D-1I

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

Choose the correct answer from the options given below:

gl -l g -l

TA-LB-ILC-IV,D-1
2ZA-NLE-IV,C-I1,D-1
A-IV,B-ILC-1LD-I
4A-1IL,B-LC-IV,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=21977]
2[Option ID=21978]
3[Option ID=21979]
4[Option ID=21980]

. |, 3aTG MURIiievl § fBedl 8 (@ ga=H i

A Sle ©R PRI
. . Il Fd T & 10 & F9 H 3Fdle (ZUcsE 0o
8. IS SN DIN | e i < 6 2
. Ill. TG U UOR @1 64l & (SI9e=H Tal U

CHT okt s amar)
Sﬁqﬂﬁm V. AT B HINIRRYT (SR SI-aiaaa-=)
< feu e fadwent & 9 9l Sw 9T

Sl. No.70
QBID:72070




Match List | with List 11

List | List 11
(Periodical) (Language)
A Patrika l. Bengali

B. Kshitij . Marathi
C. Abhiruchi lIl. Hindi

D. Parichay IV. Gujarati

T.A-LE-NIILC-1,D-1V
2ZA-IV,B-IL,C-1I,D-1
A-ILB-1L,C-IV,D-1I
4A-NLE-IV,C-1,D-1

Choose the correct answer from the options given below:

TA-LE-NIILC-1,D-1V
2ZA-IV,B-IL,C-1I,D-1
3A-ILB-1L,C-1V,D-1
4AA-NLB-IV,C-1I,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=21981]
2[Option ID=21982]
3[Option ID=21983]
4[Option ID=21984]

1) 1

(2) 2

(3) 3

4) 4

Il -1 @ gl -1l Y gHfed Sifae :
RCIRIGIEER) T -1 (HTET)
A, DT |, T
B. faifarst |1 TRTST
c. s . fget
D. U= V. Tt
Hid feu U fadenl # 9§ 98l 3w gHU :

Sl. No.71
QBID:72071




Match List | with List 11

List | List 11

A. Plato . Poetics

B. Aristotle |Il. On the Sublime
C. Horace  |lll. Republic

D. Longinus |IV. Ars Poetica

Choose the correct answer from the options given below:

TA-ILE-IV,C-1,D-1
2ZA-ILB-LC-IV,D-1I
3.A-ILB-L,C-IV,D-1
4A-IV,B-1,.C-IIlLD-1

(1) 1
(2) 2
(3) 3
(4) 4

Tt -1 B gt -1 o gafed S

gl -l g -l

A. TEl . Tisleaq

8. 3 . 37 § Feciigd
C.BRY . Rufacia

D. Telg9 \v. e gigiear
d feu e fadeal # 4 Ugl 3R gHU :

TA-ILB-IV,C-1LD-1
ZA-ILBE-LC-IV,D-1I
3.A-ILB-L,C-IV,D-1
4A-IV,B-1,C-1II,D-1

(1) 1
) 2
3) 3
(4) 4
1[Option ID=21985]
2[Option ID=21986]

3[Option ID=21987]
4[Option ID=21988]

Sl. No.72
QBID:72072




Match List | with List 11

List | List Il
A. Raoulvel |. Damodar Pandit
B. Sannehrasay Il. Roda

C. Ukti- Viyakti Prakaran lll. Jyotirishwar Thakur

D. Varnaratnakar V. Addahaman

TA-LE-ILC-U,D-1V
2ZA-ILB-IV,C-1,D-1I
3A-IV,B-ILC-1L,D-I
4AA-1LB-1LC-IV,.D-1I

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

Choose the correct answer from the options given below:

TA-LB-ILC-ILD-1V
2ZA-ILBE-IV,C-1,D-1I
3A-IV,B-ILC-1IL,D-I
4AA-1L,B-1LC-IV,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=21989]
2[Option ID=21990]
3[Option ID=21991]
4[Option ID=21992]

gl -l g -1l

A. TFTIT | GHIER Ufsd

B. THeTg 11, TST

C. 3faT &lai o= . SEIfER B3R
D. GUf T@TdY V. 3EgHI

d feu e fadeal # 4 Ugl 3R gHU :

Sl. No.73
QBID:72073




Match List | with List 11

List | List 1l

A. Mirza Galib |I. Sanskrit
B. Waris Shah |ll. Hindi
C. Bhasa [1l. Punjabi
D. Premchand |IV. Urdu

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-NLB-1,C-1V,D-1
3A-IV,B-ILC-1,D-1
4 A-1LB-IV,C-1,D-1I

- -1l
IMEEIRIRES I H¥pd
8. F1H e i f&at
C. M 111, GSTret
D. UHdg Iv. 3%
d feu e fadeal # O Ugl 3R gHU :

T.A-WB-U,C-1,D-1
ZA-NLB-1,C-1V,D-1
3.A-IV,B-ILC-1,D-1I
4A-1IL,B-IV,C-1,D-1I

1)
(2)
(3)
(4)

A W N =

1[Option ID=21993]
2[Option ID=21994]
3[Option ID=21995]
4[Option ID=21996]

Sl. No.74
QBID:72074




Match List | with List 11

List | List 11

A. Gurram Joshua [I. Marathi
B. Bhima Bhoi Il. Telugu
C. Bhanu Bhakt |lll. Odia
D. Bahina bai V. Nepali

Choose the correct answer from the options given below:

TA-ILE-IV,C-1,D-1
2ZA-IL,B-NL,C-IV,D-1
3A-IV,B-ILC-1L,D-I
4A-LB-IILC-IV,D-1

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

gl -l -l

A TR ST |, ERIST

B. o uig Il T,
C. MHHE . 3fsan
D. SfgTaTg v, Tt
o feu e fadeal # 9§ Ugl 3T gHU :

TA-ILE-IV,C-1,D-1
ZA-ILB-NL,C-1V,D-1
3A-IV,B-ILC-1IL,D-I
4AA-LB-II,C-IV,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=21997]
2[Option ID=21998]
3[Option ID=21999]
4[Option ID=22000]

Sl. No.75
QBID:72075




Match List | with List 11

List | List Il
A. Amar Jibon |I. Chronicle
B. Safarnama  |ll. Frame story

C. Pancatantra |lll. Travelogue

D. Ragjtarangini |IV. Autobiography

Choose the correct answer from the options given below:

TA-ILEB-ILC-1IV,D-1
2ZA-ILB-LC-IV,D-1I
A-LEBE-NILC-1,D-1V
4 A-IV,B-1ILC-1I,D-1

(1) 1
(2) 2
(3) 3
(4) 4

Tt -1 B gt -1 o gafed S

gl -l -1l

A. STER a7 1. sfaad

B. YT 11 T5H R
C. ggdq 111, TG
D. IR V. STHBYT
o feu e fadeal # 9§ Ugl 3T gHU :

TA-ILEB-ILC-1IV,D-1
ZA-ILBE-LC-IV,D-1I
A-LE-NILC-1,D-1V
4AA-IV,B-1ILC-1I,D-1

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22001]
2[Option ID=22002]

3[Option ID=22003]
4[Option ID=22004]

Sl. No.76
QBID:72076




Identify the correct sequence of the composition of the following works
A. Meghnadvad Kavya

B. Saket

C. Priyapravas

D. Yajnaseni

Choose the correct answer from the options given below:

1.C,B,AD
2ACBD
3.0,A,C. B
4.8, A D C

(1)
(2)
(3)
(4)

A W N R

FrafaRad Tl & 951 B4 B UgdH Bt

A. HeIGaY B1d

B. TIdd

C. fogyarg

D. Fr7EH1

i< feu e faweal 5 § 981 IR 9 -
1.C,B,A D
2.A,CB,D

3.D,ACEB
4.8, A D C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22005]
2[Option ID=22006]
3[Option ID=22007]
4[Option ID=22008]

SI. No.77
QBID:72077




Rearrange the following critical texts in the chronological order of their publication.
A. Theatres of Independence : Drama theory and urban performance in India since 1947
B. Of many heroes: An Indian Essay in Literary Historiography

C. Elusive Terrain : Culture and Literary Memory

D. Making It New: Modernism in Malayalam, Marathi and Hindi Poetry
E. In Theory: Classes, Nations, Literatures

Choose the correct answer from the options given below:

1.ED,B A C
2.AB CDE
3.0,EBAC
4.C.D B AE

1)
(2)
(3)
(4)

A W N R

FrafcRaa seEEs UUf S 39 USIEH & BIarmH H TRy ST
A. [08eY o sfete~g: ST [4oR U8 Ha+ WhIa~g 57 310547 [ 1947
C. 34T F Bear US [ered’] 95T

D. Hf3T 3¢ 3 : HIsoH 37 Godras, J181 US fe=t wredt

E. 37 [U3RT: Forgw, 79, foieiawd

i< fgu U fasedl 5 U U8l IR @ 999 DI

1.ED, B AC
2.A B CDE
3.D,E B A C
4.C D B AE

1)
(2)
(3)
(4)

A W N =

1[Option ID=22009]
2[Option ID=22010]
3[Option ID=22011]
4[Option ID=22012]

Sl. No.78
QBID:72078




Rearrange the following texts in the correct chronelogical sequence of their appearance:

A. Madhu Malti
B. Candayan
C. Mirigavati
D. Padmavat

E. Indravati

Choose the correct answer from the options given below:

1T.AEBCD
2.D,ABCE
3.CAEBD
4B, C D AE

(1) 1
) 2
3) 3
(4) 4

Fafiad Jul &1 3 UHIId 8 & el SIaHHER JHaadd Hifo:
A. FEHTTA

B. TG

C. Zadr

D. TZad
E. Sgradl
i< fGu U faweul § © el SR @1 984 Sifee :

1.AEBCD
2.0 A B CE
3.CAEBD
4.B,C,D AE

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22013]
2[Option ID=22014]

3[Option ID=22015]
4[Option ID=22016]

Sl. No.79
QBID:72079




Rearrange the following contributors to medieval Punjabi Literature according to their time period
A. Guru Arjan Dev

B. Guru Tegh Bahadur

C. Guru Nanak Dev

D. Guru Gobind Singh

Choose the correct answer from the options given below:

1.ACBD
2.B,D CA
3.3.CABD
4.C, B AD

(1)
(2)
(3)
(4)

AH@IG Uael iied & HUtRad rieH ddisl &1 34d YHaGI & HIUR [Haaiyd Hife;
A T[® 39 &g

B. 7% o1 981G

C. 7% AHd &d

D. % TMifdg Rig

i< U 71U e eul # 9 981 SR &1 90 ST

A W N R

1.ACBD
2.B,D CA
3.3.CABD
4.CBAD

1)
(2)
(3)
(4)

A W N R

1[Option ID=22017]
2[Option ID=22018]
3[Option ID=22019]
4[Option ID=22020]

Sl. No.80
QBID:72080




Rearrange the following traditions of Sanskrit poetics in their correct chronological order

A. Alankara theory
B. Rasa theory

C. Auchitya Sidhant
D. Dhvani theory

Choose the correct answer from the options given below:

1.A DB C
2.D, B CA
3.B,A, D, C
4.C, B AD

1) 1
(2) 2
(3) 3
(4) 4

Tpd BIod W B HEiEd TURISH & 98! Bd-HH J rafeyd i :
A 3RBR g

8. 79 fard

c. Sifa s

D. @ g

i< U 7Tu s eul H 9 981 IR &1 95 S|

1.A DB C
2.D, B CA
3.B,A, D C
4.CBAD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22021]
2[Option ID=22022]

3[Option ID=22023]
4[Option ID=22024]

Sl. No.81
QBID:72081




Rearrange the following commentators according to the time period of their contributions to Sanskrit Kavyashastra:

A. Anandvardhana

B. Bharata

C. Mammata

D. Panditraj Jagannatha

Choose the correct answer from the options given below:

1.ACBD
2.D,C B A
3.B,ACD
4.D,C A B

1) 1
(2) 2
(3) 3
(4) 4

U&pd PIORIE H 30 ANTEH! & YHY 1 & IR HAIRI PI@RI & Y-Houaiyd difoe
A. HFEaE

B. H¥d

C. HHE

D. USRS W1y

i< 23U U e el H9 HEl 9Tk &1 99 SIS -

1.ACBD
2.D,C B A
3.B,ACD
4D C A B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22025]
2[Option ID=22026]

3[Option ID=22027]
4[Option ID=22028]

Sl. No.82
QBID:72082




Arrange the following works by Faiz Ahmed Faiz in the order of their appearance.
A. Zindan Nama

B. Dast- e- Saba

C. Nagsh - e- Faryadi

D. Sare Sukhan Hamare

E. Nuskha - hae - wafa

Choose the correct answer from the options given below:

1T.ACBED
2.D,CBEA
3.C,BADE
4.4 B D CE

1)
(2)
(3)
(4)

A W N R

Tl ofeHe By B fafad Fefafad $iadl & 516 Trafa Uee) & H8 § wafeud S :
A, Tofe-m

B. % -U -l

C. FFI-T-HECl

D. 9N & §AR

E. TRE1-g-a%T

i< fgu U fasedl 5 U U8l IR @ 999 DI

1.A CBED
2.D,CBEA
3.C,B,ADE
4.4 B D CE

1)
(2)
(3)
(4)

A W N =

1[Option ID=22029]
2[Option ID=22030]
3[Option ID=22031]
4[Option ID=22032]

Sl. No.83
QBID:72083




Arrange the following Indian writers in order of their appearance
A. Angom Kavi

E. Nannaya

C. Mukteswar

D. Saraladas

Choose the correct answer from the options given below:

1.B,D,C A
2D A CB
3.3ACBD
4.4, DB C

1) 1
(2) 2
(3) 3
(4) 4

YR U & FYfiRad ARl @I 3 aigdidid (Ydhed) & oH H oaiyd difag
A. ST Big

B. AT

C. JRIER

D. ¥Xdlard

il T 7Y fadhedl | 9 el IR B 98 Bifod -

1.B,D, C A
2D A CB
3.3ACBD
4.4, DB C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22033]
2[Option ID=22034]

3[Option ID=22035]
4[Option ID=22036]

Sl. No.84
QBID:72084




Arrange the following writers in order of their appearance.
A. Bahinabai

B. Andal

C. Mahadevi Akka

D. Karaikkalmma

Choose the correct answer from the options given below:

1.0,B, C A
2ACBD
3.D,A,B,C
4.CABD

1) 1
(2) 2
(3) 3
(4) 4

Fufiad caml @l 3 snfauid @edia) & o7 H Taid S
A SigAER

B. 38T

C. HgTGd! Hadl

D. BRSGH TN

i< U e el | 9 981 R W 9 il

1.0,B, C A
2ACBD
3.0, A, B, C
4.CABD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22037]
2[Option ID=22038]

3[Option ID=22039]
4[Option ID=22040]

Sl. No.85
QBID:72085




Arrange the following writers in order of their appearance.
A. Racine

B. Lessing

C. Webster

D.Calderon

Choose the correct answer from the options given below:

1.0, C A B
2ACBD
3.0, C, B A
4.CABD

1) 1
(2) 2
(3) 3
(4) 4

fafeRad dRas! & 3d 3MfaHiad -- @RS & %9 H rafyd Hifv :
AT

B. I

C. de&}

D. Bles

= feu e fadedi & 9 98l IR &1 79 i

1.0, C A B
2ACBD
3.0, C B A
4.CABD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22041]
2[Option ID=22042]

3[Option ID=22043]
4[Option ID=22044]
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Given below are two statements:

Statement |: Baba Padmanji's Yamunaparyatan documents the travails of a female outlaw in the colonial era.
Statement |I: For the female protagonist of Yamunaparyatan true redemption lies in Christian conversion.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
) 2
3) 3
4) 4

A P RYTUE:
DY - | : T161 Ul & JGHGEeTH AUFdRS g H U Higdl S1d i THR Jrns &1 o fha gl
DU - || : JEEe & Higal 9F & TR Tl giad 3473 yHi-Ru & Figd g
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. ®YF | 3R 11 EHT 981 8
2. HYF | 3R Il THI T g

3.9 19 e, g @y 17dad g |
4. @Y HEA §, fog duH 11 el 21

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22045]
2[Option ID=22046]

3[Option ID=22047]
4[Option ID=22048]

Sl. No.87
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Given below are two statements:

Statement |: The Scapegoat archtype involves a character who is lauded for everything that goes right and must ultimately
be rewarded or idolized.

Statement II: In George Orwell's Animal Farm, the pig Snowball is a classic example of the Scapegoat archetype.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

(1) 1
(2) 2
(3) 3
(4) 4




U - | - THUIIE AeET § Ue U YEfed & foue! 34 Udie a1d & {6 WRe &1 9idl 8, off 98t fomn & ol & 3R 39@T
3idd: Q3pd fdl ST AT YT I8! Gull B Sl 91fg T

DY - 11 : SIS ARG D THHT B H YR Fidid ©hUle HfeeEy & Uh Fid] 3eev gl
Iudad dyHl @ aie | FafaRad fGeddl § 9 98 3o g -

1. @Y | 3R 11 SFT 9ET §

2. %Y 1 AR 11 G e g

3. %Y 19 s, g @Y 1 TTad § |
4. | 3T T, g o 1 T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=22049]
2[Option ID=22050]
3[Option ID=22051]
4[Option ID=22052]
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Given below are two statements:
Statement |: Fitzgerald's Rubaiyat of Omar Khayyam is an example of adaptation.
Statement |I: Fitzgerald translated Omar Khayyam's Rubaiyat.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N R

T - | - ThoRIes &1 URad! I5% GTH $1 $ai5dd, EUIaU] &I Uh Iaev gl

YA - || : heToIcs A SR W &1 $a759d @1 3alg [&dl|
Iudad Byl & e H FefaRad Geddl § 9 92 g9 9 -
1. @Y | 3R 11 EH 9el B
2. B | AR 11 ST TTAd &

3.9 1 qd e, g @y 1 Tad B |
4. 3TA e, Hg A 1 T B

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=22053]
2[Option ID=22054]
3[Option ID=22055]
4[Option ID=22056]
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Given below are two statements:

Statement |: The poet Balaram Das wrote an Odia Purana and named it Jagamohan Ramayana.
Statement II: As Jagamohan is another epithet of Jagannatha, he called his Ramayana "Jagamohan”.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1)1
(2) 2
(3) 3
(4) 4

T - | B TORH GI9 - 3131 HIT H TH 0T [T SiR SU@1 1 T THIg ITHa0 |

HYA - || : THTHIGA o=y ST 30 T & | 3Hd: S0 G - THE0 & 91 “SAEE © 3@l
SWad HYA[ & H1die H HufeRad fadedl § 4 9el 3w g -

1. YT | AR 1 ST S 2

2. YA | AR 11 SF AT &

3.7 I 9d e, g I TEd B |
4. | 3T T, g o 1 T B

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22057]
2[Option ID=22058]

3[Option ID=22059]
4[Option ID=22060]
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Medieval Indian Literature is essential reading for anyone who wants to understand modern India.

Reason (R): The hope and despair of the people of this vast subcontinent, horizontally and vertically cut up into fragments,
continue to be guided by deep rooted instincts and affinities which go back to the middle ages.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1)1
(2) 2
(3) 3
(4) 4

A G B CUIU R : Ud &l SHUSHYH (A) AR g8 DI BRI (R) Bl T gl

HfUEHYA (A) TO@HTEH YRAE Tified BT HLTH 83 39 idd & (O TS & ol AYHE YRd &I Y9 Iedl o

R) : 59 fO=ITS HeTEi & Tl @1 1= U9 1= &fos &0 # g $H@iiR T J g 3 GUs! & 99 51 Sl &, 5 B el
Hewighadl AR UeHl gR1 HE12d Bldl & foms] o 7y 3 ®ud 5|

Iuddd DYl & HIclld | HHildd [ddbedl H 4 el 9t g :

1. (A) 3R (R) GHT W21 & 9 (R), (A) P WEl TS &
2.(A) AR (R aﬁrﬁl%ﬂﬁ )aﬁﬂéﬁwqﬁ%
3.(A) TR B IR R}lfl%*’f%"@
4.(A) WEI TR s W4 (R) el o
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=22061]
2[Option ID=22062]
3[Option ID=22063]
4[Option ID=22064]
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Read the following passage and answer the questions that follow:

As a magistrate in commen life may appear in plain clothes and mingle without distinction in the crowd, so do these words
‘either-or' mingle in common speech - when , however, the magistrate steps forward with authority he distinguishes himself
from all. Like such a magistrate whom | am accustomed to see only on sclemn occassions, these words appear before me,
and my soul always becomes serious. And although my life now has to a certain degree its either / or behind it, yet | know
well that it may still encounter many a situation where the either/or will have its full significance. | hope , however, that these
words may find me in a worthy state of mind when they check me on my path, and | hope that | may be successful in
choosing the right course; at all events, | shall endeavour to make the choice with real earnestness , and with that | venture,
at least, to hope that | shall the sooner get out of the wrong path.

T U3 3R ITF 1€ 31 qH UY FTIW S

19 g @3 Afoee (CSISR) MM Ssiiad H WIUR YW F 31ar & a famn e O & g8 & ga -fid o & 3fe 39t
WE U - Teg 'se3-3AR R 4191 ¥ T8e o 81 geil oid AioRce EsSiaRY) o=t WSl & 9 addl & of oFg 9 ¥
Jua! fafpar wp g1 fad wiidl g1 3id 39 caaR! @ &g, o & SNuaiR® el W gl aadl § Sl UBR 3 Weg, HY THE
Ude giH d 5 SAIAT Had 4R gl 91l 81 9ol $9 86 ad g jal / SR HR Sl ¥ ¥ag 5l 71 5, Wid fd H Sl § fdb dg
3 uRTRuferdl H Aeayul 5l 9adl g1 & 1= 31 ¢ 16 4 Wet H9l e W H: U & Ui, o9 9 A 0y R i 3311
H gg o o ®eal § [ Sfad AF 994 § T Twadl tern | 32 fRufadl § | arafas Saedl & 1Y 994 1 30" HET:
R YD U1y, HH-Y-HH Tg A1 B T Wy HIal g 1o 1§ M9 2 ST T% J ISR S5

The author's "soul always becomes serious” when:

1. the magistrate comes in plain clothes

2. the words ‘Either/or* are used intelligibly

3. use of these words and the appearance of the magistrate are alike
4. use of ‘Either/or" is akin to the magistrate’s in official robes.

(1) 1
(2) 2
(3) 3
(4) 4

Td GD I A Hed THR I IdT § 2

1. 9d SSIUPRI (\RES) WG $US H 1Al &

2. 1€ MeG G AT GHT H U U (363 / 31R) BT HGeR WA IS 8l

3.3 TIsal @1 WA 9iR ESTier (\AfvRee) @ Sufi gaH &

4. GHI T EHTH U TP (383 / 3HR) BT WG1T AR SSEeRt @1 Afeeie uheq geag

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22065]
2[Option ID=22066]

3[Option ID=22067]
4[Option ID=22068]
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Read the following passage and answer the questions that follow:

As a magistrate in commen life may appear in plain clothes and mingle without distinction in the crowd, so do these words
‘either-or' mingle in common speech - when , however, the magistrate steps forward with authority he distinguishes himself
from all. Like such a magistrate whom | am accustomed to see only on sclemn occassions, these words appear before me,
and my soul always becomes serious. And although my life now has to a certain degree its either / or behind it, yet | know
well that it may still encounter many a situation where the either/or will have its full significance. | hope , however, that these
words may find me in a worthy state of mind when they check me on my path, and | hope that | may be successful in
choosing the right course; at all events, | shall endeavour to make the choice with real earnestness , and with that | venture,
at least, to hope that | shall the sooner get out of the wrong path.

T U3 3R ITF 1€ 31 qH UY FTIW S

19 g @3 Afoee (CSISR) MM Ssiiad H WIUR YW F 31ar & a famn e O & g8 & ga -fid o & 3fe 39t
WE U - Teg 'se3-3AR R 4191 ¥ T8e o 81 geil oid AioRce EsSiaRY) o=t WSl & 9 addl & of oFg 9 ¥
Jua! fafpar wp g1 fad wiidl g1 3id 39 caaR! @ &g, o & SNuaiR® el W gl aadl § Sl UBR 3 Weg, HY THE
Ude giH d 5 SAIAT Had 4R gl 91l 81 9ol $9 86 ad g jal / SR HR Sl ¥ ¥ag 5l 71 5, Wid fd H Sl § fdb dg
3 uRTRuferdl H Aeayul 5l 9adl g1 & 1= 31 ¢ 16 4 Wet H9l e W H: U & Ui, o9 9 A 0y R i 3311
H gg o o ®eal § [ Sfad AF 994 § T Twadl tern | 32 fRufadl § | arafas Saedl & 1Y 994 1 30" HET:
R YD U1y, HH-Y-HH Tg A1 B T Wy HIal g 1o 1§ M9 2 ST T% J ISR S5

The comparison made between the magistrate and the words * Either/or" is :

1. a paradox

2. asimile

3. a synecdoche
4. an analogy

1) 1
(2) 2
3) 3
(4) 4

GSYBRI (HIRET) 3R g "G U1 GHI H U T (3AZeR / 3R) S §iE go 5 :

1.9% R
2. 0% I9A1

3. TP JUTED
4. U@ A0l

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22069]
2[Option ID=22070]

3[Option ID=22071]
4[Option ID=22072]
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Read the following passage and answer the questions that follow:

As a magistrate in commen life may appear in plain clothes and mingle without distinction in the crowd, so do these words
‘either-or' mingle in common speech - when , however, the magistrate steps forward with authority he distinguishes himself
from all. Like such a magistrate whom | am accustomed to see only on sclemn occassions, these words appear before me,
and my soul always becomes serious. And although my life now has to a certain degree its either / or behind it, yet | know
well that it may still encounter many a situation where the either/or will have its full significance. | hope , however, that these
words may find me in a worthy state of mind when they check me on my path, and | hope that | may be successful in
choosing the right course; at all events, | shall endeavour to make the choice with real earnestness , and with that | venture,
at least, to hope that | shall the sooner get out of the wrong path.

T U3 3R ITF 1€ 31 qH UY FTIW S

19 g @3 Afoee (CSISR) MM Ssiiad H WIUR YW F 31ar & a famn e O & g8 & ga -fid o & 3fe 39t
WE U - Teg 'se3-3AR R 4191 ¥ T8e o 81 geil oid AioRce EsSiaRY) o=t WSl & 9 addl & of oFg 9 ¥
Jua! fafpar wp g1 fad wiidl g1 3id 39 caaR! @ &g, o & SNuaiR® el W gl aadl § Sl UBR 3 Weg, HY THE
Ude giH d 5 SAIAT Had 4R gl 91l 81 9ol $9 86 ad g jal / SR HR Sl ¥ ¥ag 5l 71 5, Wid fd H Sl § fdb dg
3 uRTRuferdl H Aeayul 5l 9adl g1 & 1= 31 ¢ 16 4 Wet H9l e W H: U & Ui, o9 9 A 0y R i 3311
H gg o o ®eal § [ Sfad AF 994 § T Twadl tern | 32 fRufadl § | arafas Saedl & 1Y 994 1 30" HET:
R YD U1y, HH-Y-HH Tg A1 B T Wy HIal g 1o 1§ M9 2 ST T% J ISR S5

What is common between the ‘magistrate’ and "these words" (either/or)?

1. their plainness
2. their authority
3. their duality

4. their unreality

1) 1
(2) 2
3) 3
(4) 4

ZeiER] (o) 3R 37 Teal (@ a1 aH 3 I Ue) & &g T9H #1 § ?

1. 3Tab! Tt

2. 3Dl iIdR

3. 3@ gd

4. 3! SErEdtadmdl

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22073]
2[Option ID=22074]

3[Option ID=22075]
4[Option ID=22076]
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Read the following passage and answer the questions that follow:

As a magistrate in commen life may appear in plain clothes and mingle without distinction in the crowd, so do these words
‘either-or' mingle in common speech - when , however, the magistrate steps forward with authority he distinguishes himself
from all. Like such a magistrate whom | am accustomed to see only on sclemn occassions, these words appear before me,
and my soul always becomes serious. And although my life now has to a certain degree its either / or behind it, yet | know
well that it may still encounter many a situation where the either/or will have its full significance. | hope , however, that these
words may find me in a worthy state of mind when they check me on my path, and | hope that | may be successful in
choosing the right course; at all events, | shall endeavour to make the choice with real earnestness , and with that | venture,
at least, to hope that | shall the sooner get out of the wrong path.

T U3 3R ITF 1€ 31 qH UY FTIW S

19 g @3 Afoee (CSISR) MM Ssiiad H WIUR YW F 31ar & a famn e O & g8 & ga -fid o & 3fe 39t
WE U - Teg '5e3-3AR R 4191 ¥ 18e o 81 geil oid AioRge EsSTisRY) o=t WiESRar & 9 addl & of oFg 9 ¥
Jua! fafpar wp g1 fad wiidl g1 3id 39 caaR! @ &g, o & SNuaiR® el W gl aadl § Sl UBR 3 Weg, HY THE
Ude giH d BRI 1A Hed THR gl 91l 81 9l $9 86 ad g j6l / SR HR Sl ¥ Uag 5l 7141 5, Wd fd H Sl § fdb dg
- uRiRuferl H Aeayul 5l 9adl 3| & TR A1 ¢ 16 4 Vet Hl U@ W@ H: R & Ui, o9 9 A vy R i &3
H gg o o ®eal § [ Sfad AF 994 § T Twadl tern | 32 fRufadl § | arafas Saedl & 1Y 994 1 30" HET:
AR 3T WY, HH-Y-H1 Tg A= T BT TS B § (b 1 219 o I I T ISR S|

Which of the following statements are correct?

A. The author has grown beyond the problem of choosing between either and or.
B. The author may yet face the need to make the choice.

C. The author is free to make any choice according to his preferences.

D. For right choice, the right frame of mind is necessary.

Choose the most appropriate answer from the options given below:

1. A and D only
2.Cand D only
3.B and D only
4. A and B only

1) 1
(2) 2
(3) 3
(4) 4




e Hd e g Py 981 § 7

A TS "33/ T, CHIE T @ & o 909 &) G A W e g@T 6l
B. TG IU- B AUl B WH] B Tavdl ¢

C. T U1 UG & SuR odl &1 99+ - & ol Wil g

D. 3fd 98 & & fou Id 9ARE & ewgdd |

id feu e el # 4 Yad 3Ugad 3R &l 98- Sifed :

1. ®aad A AR D
2.%ad C AR D
3. ®ad B AR D
4. HIAA AR B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22077]
2[Option ID=22078]

3[Option ID=22079]
4[Option ID=22080]

Sl. No.95
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Read the following passage and answer the questions that follow:

As a magistrate in common life may appear in plain clothes and mingle without distinction in the crowd, so do these words
‘either-or’ mingle in common speech - when , however, the magistrate steps forward with authority he distinguishes himself
from all. Like such a magistrate whom | am accustomed to see only on solemn occassions, these words appear before me,
and my soul always becomes serious. And although my life now has to a certain degree its either / or behind it, yet | know
well that it may still encounter many a situation where the either/or will have its full significance. | hope , however, that these
words may find me in a worthy state of mind when they check me on my path, and | hope that | may be successful in
choosing the right course; at all events, | shall endeavour to make the choice with real earnestness , and with that | venture,
at least, to hope that | shall the sooner get out of the wrong path.

T U3 3 36 91¢ 3 916l Y H1 IS

o1 TRE @i AoRee ESIMUDRI) YR Sfiad H WIUR XY H 31dT & o f&1 sl Y & 998 | 9o -4 ol &; did 34!
WE U - g Se3-AX THF 4161 H 7 91d §1 99 o9 afRee @SSR o9 Wfteia & 9y 9ol & o oFF 9+ 9
U fafdpar =y 21 fow ol 81 31 39 defier] @1 e, forg & SuaiR® atRl W 81 ¢8dl § 94l UoR 4 eg IR q0gf
Ude g4 d HR SAIAT Ged THR gl @Il &1 9ail $% ga ad g jal / R HR Sl o Ues 5l 741 8, Wd {d H Sl § I dg
3w Rl H Agauu! g Tdhdl g | H SR H1 § (d U Weg Hoi U e 74: TRyl & U], ofd d R vy | 7 S B3|
o gg ol o= &l § o 3fad |rl 944 § 931 Shadr fFert| 9 el § ¥ aralds 3cddl & 91 994 &1 Ty ST
HR YD 1Y, HH-Y-5H T8 A= &3 B GIgy &l § 19 3 29 &1 SHfad I 9 IR |




Which two of the following statements capture correctly the trend of the passage 7

A. The question of choice between x and y is time and person specific.

B. The decision between ‘Either/or" in any situation must be governed by moral principles
C. Decision- making is to be expressed in both ardinary and serious situations.

D. ‘Either/or' is faced in day to day matters as well as matters of life and death

Choose the most appropriate answer from the options given below:

1.Cand D only
2.Aand B only
3. A and D only
4.B and C only

1) 1
(2) 2
(3) 3
4) 4

FrafaRed oyl # 9 ®1F I < $YH T @1 UgRI ®I 951 U H Siiiedad ded o ?

A X #R v & did 99 &1 Uy DI 3R fad fafi g

8. et RS H 1/ SF1 B 8 Uop SaX / 3R & &1 &1 Fvfg e fasiat gry onfad giar 21
C. T SR R Rufaar, <= H Fofa & &1 siftgge foar s =gyl

D. &ATea AmCl & 91y A1y Sfia 3R 7R & AHE! 7 35 a3-341Y A &1 Usdl ol

= 7 U s & 9§ 999 3ugdd 33 T 904 DIt

1.HaAC 3R D
2.%ad A 3R B
3. HadA AR D
4. HaaB 3R C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22081]
2[Option ID=22082]

3[Option ID=22083]
4[Option ID=22084]

Sl. No.96
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Read the following passage and answer the question that follow:

Every inquiry is a seeking(Suchen). Every seeking gets guided before hand by what is sought. Inquiry is a cognizant seeking
for an entity both with regard to that fact that it is and with regard to its Being as it is. This cognizant seeking can take the
form of 'investigating’["Untersuchen"], in which cne lays bare that which the guestion is about and ascertains its character.
Any inquiry, as an inquiry about something, has that which is asked about [sein Gefragtes]. But all inquiry about something is
somehow a questioning of something[Anfragen bei . . ]. So in addition to what is asked about, an inquiry has that which is
interrogated [ ein Befragtes]. In investigative questions - that is, in questions which are specifically theoretical - what is asked
about is determined and conceptualized. Furthermore, in what is asked about there lies also that which is to be found out by
the asking [das Erfragte]; this is what is really intended.

Heidegger, Being and Time

Frafafad o $1 13 ot 39 a1e 3y g v usi F sww dfm

TP AT U UUTE & (o) | E & SRR O € U & ey 3 formen &1 fEEn Pid gt 21 fedt i g &t W= w9
T & o 3O gl 8- 39 gl &1 B 3R 39 3 &1 Wey ol gl o & vy ¥1 39 999 33uu &
HITRM (investigation) BT U@ &, e GRIF UY @1 99 R Uy &1 weu FulRor far 9 81 &2 o= 39 &= |
foraman & o W Uy Um0 B, aft &R forgran &1 e fawy oft B form fawg W wy snenfea B1 uy Ot TR g4 ©1, o 5a
w0 I digs 3R JGiad & - 91 vy M 3R aurafid sid1 81 59 siamal fogman | [Aigd & s faud ol S+ & o gt
HYU] BT HRTH G - Fal I [T & HHWE B

‘Seeking' is :

1. a part of an ‘inquiry’
2. the goal of an "inquiry’
3. the path of an ‘inquiry’
4.in itself the "inquiny’

(1) 1
(2) 2
(3) 3
(4) 4

i/ 390l g:

1. ToIRIET &1 U ST
2. T @1 T 959
3. ToRIAT 1Oy

4. 39 3M9H forgmar

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22085]
2[Option ID=22086]

3[Option ID=22087]
4[Option ID=22088]
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Read the following passage and answer the question that follow:

Every inquiry is a seeking(Suchen). Every seeking gets guided before hand by what is sought. Inquiry is a cognizant seeking
for an entity both with regard to that fact that it is and with regard to its Being as it is. This cognizant seeking can take the
form of 'investigating’["Untersuchen"], in which cne lays bare that which the guestion is about and ascertains its character.
Any inquiry, as an inquiry about something, has that which is asked about [sein Gefragtes]. But all inquiry about something is
somehow a questioning of something[Anfragen bei . . ]. So in addition to what is asked about, an inquiry has that which is
interrogated [ ein Befragtes]. In investigative questions - that is, in questions which are specifically theoretical - what is asked
about is determined and conceptualized. Furthermore, in what is asked about there lies also that which is to be found out by
the asking [das Erfragte]; this is what is really intended.

Heidegger, Being and Time

Frafafad o $1 13 ot 39 a1e 3y g v usi F sww dfm

TP AT U UUTE & (o) | E & SRR O € U & ey 3 formen &1 fEEn Pid gt 21 fedt i g &t W= w9
T & o 3O gl 8- 39 gl &1 B 3R 39 3 &1 Wey ol gl o & vy ¥1 39 999 33uu &
HITRM (investigation) BT U@ &, e GRIF UY @1 99 R Uy &1 weu FulRor far 9 81 &2 o= 39 &= |
foraman & o W Uy Um0 B, aft &R forgran &1 e fawy oft B form fawg W wy snenfea B1 uy Ot TR g4 ©1, o 5a
w0 I digs 3R JGiad & - 91 vy M 3R aurafid sid1 81 59 siamal fogman | [Aigd & s faud ol S+ & o gt
HYU] BT HRTH G - Fal I [T & HHWE B

Which two of the following statements are correct?

‘Cognizant Seeking”:

A. means search for recognition

B. is search for all dimensions of an entity

C. is search to know what is intended to be known

D. is searching for the relevant parts of the object of search.
Choose the most appropriate answer from the options given below:

1.B and C only
2.Cand D only
3. A and D only
4. A and B only

(1)1
(2) 2
(3) 3
(4) 4




frofaied # 4 oid ol YA 981 § 7

RIEICICA BB

A @1 Y TgTHE BTG B

B. @1 31 U gl & |Hi ST 3 Wil g

C. @1 34 8, 5 9 @1 34l &, 3P @il

D. @1 3 & WAl @1 avq o WRTe YR &1 Jars|

< T 7Tu fadent o U gay SUgeEd SR 31 904 DI

1. ®aA B AR C
2.%ad C AN D
3. Bad A AR D
4. PIAA AR B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22089]
2[Option ID=22090]

3[Option ID=22091]
4[Option ID=22092]

Sl. No.98
QBID:72098

Read the following passage and answer the question that follow:

Every inquiry is a seeking(Suchen). Every seeking gets guided before hand by what is sought. Inquiry is a cognizant seeking
for an entity both with regard to that fact that it is and with regard to its Being as it is. This cognizant seeking can take the
form of ‘investigating'["Untersuchen”], in which one lays bare that which the question is about and ascertains its character.
Any inquiry, as an inquiry about something, has that which is asked about [sein Gefragtes]. But all inquiry about something is
somehow a questioning of something[Anfragen bei . . ]. So in addition to what is asked about, an inquiry has that which is
interrogated [ ein Befragtes]. In investigative questions - that is, in questions which are specifically theoretical - what is asked
about is determined and conceptualized. Furthermore, in what is asked about there lies also that which is to be found out by
the asking [das Erfragte]; this is what is really intended.

Heidegger, Being and Time

Frafafad o 1 13 ot 35 are Ry ¢ 1w usi F s difm

U [ Ul U ¢ (o) | EI9 & AR J g1 Uy & @eu ¥ forgmar @ fazn Fyifed eidt g1 farddt ff el @I 9ua 931
T aH & o S Bl 8- 99 gl @1 B4 AR 399 3iQ @1 Wey ol gl o & favg ¥1 59 999 =un &
HTGR (investigation) BT Gdd &, e GRIF U¥ @1 99 SR 0y &1 wed FulRor fsar 9 81 8% o0 39 g5 |)
formmen & o/ W uy g=1 T B, At &= Form &1 v fawg o & o fawn W uy snetfia B uy Ofe smRM g4 8, T aw
w0 I aide R JGiad & - a1 0y FiEd iR auraifid sid 81 59 Sfamal fogma | [Higd & dg favd o/l S+ & g
HYU] BT HRTH G - Fal I [T & HHWH B




Which of the following two statements are correct? In any inquiry, the search is :
A. for what is not known.

B. an excercise in how to go about it.

C. deferred by the object of inquiry

D. what is to be planned before it begins

Choose the most appropriate answer from the options given below:

1. A and D only
2. A and B only
3.B and C only
4. A and Conly

1) 1
(2) 2
(3) 3
(4) 4

FEfaed H 4 @H d dY 981§ 2

el oft o & Su favg sl @ B & -

A. fored aR & g5 A T 5

8. fondit +ff fawg @t Wisl B &1 3/

c. fo g & gq eren

D. 39 GId & URR™ § & R

i feu T fadhedl o U 9l I STk & 98- Dol :

1. ®adA IR D
2. Had A 3R B
3. Bad B 3R C
4. PIAA AR C

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22093]
2[Option ID=22094]

3[Option ID=22095]
4[Option ID=22096]

Sl. No.99
QBID:72099




Read the following passage and answer the question that follow:

Every inquiry is a seeking(Suchen). Every seeking gets guided before hand by what is sought. Inquiry is a cognizant seeking
for an entity both with regard to that fact that it is and with regard to its Being as it is. This cognizant seeking can take the
form of 'investigating’["Untersuchen"], in which cne lays bare that which the guestion is about and ascertains its character.
Any inquiry, as an inquiry about something, has that which is asked about [sein Gefragtes]. But all inquiry about something is
somehow a questioning of something[Anfragen bei . . ]. So in addition to what is asked about, an inquiry has that which is
interrogated [ ein Befragtes]. In investigative questions - that is, in questions which are specifically theoretical - what is asked
about is determined and conceptualized. Furthermore, in what is asked about there lies also that which is to be found out by
the asking [das Erfragte]; this is what is really intended.

Heidegger, Being and Time

FrafafEa e i 0d o 79 a1g 3y g T usit & I fifvml

TP T U U & () | E & SRR O € U & ey 3 formen &1 fEEn R gt 81 fedt i g &t W= w9
T aH & o9 SO 8l 8- 99 gl &1 BT iR 3P 31 &1 Wey ol gl o & vy §1 59 999 33y &l
HITRM (investigation) BT U@ &, e GRIF UY @1 faug iR Uy &1 wed FulRor e 9 81 82 o= 39 & |
forman & o/ R Uy 981 T €, At o e @1 U 9wy oft B o famg )R uy snenfid 81 0y 91 oo e o, 1 10d
w0 I digs 3R JGiad & - 91 vy M 3R aurafid sid1 81 59 siamal fogman | [Aigd & s faud ol S+ & o gt
HYU] BT HRTH G - Fal I [T & HHWE B

Which of the following states accurately the trend of the argument in the passage?

Any inquiry:

1.is a search for knowledge about an object that exists.

2.is an investigation into what is and the character of what is.
3.is a series of practical questions about the object.

4. has the intention of conceptualizing what has been asked.

1) 1
() 2
3) 3
4) 4

FAfREd H § DIFH $Y- SR T &1 WGl &1 A S5kl 87
ﬁ'ﬁﬂ-ﬁm:

1. 39 9% & 9R H JH B Wi @l &, forgd! s g1
2. F1 8 3R 39S INA T g, I9F aR § 90 o

3. Tkl a5 & IR J AEeie vyl &1 JEa g

4. Tor9% 9 & UB1 71 &, 39D SAURUMHY B Gl 6

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22097]
2[Option ID=22098]

3[Option ID=22099]
4[Option ID=22100]




Sl. No.100
QBID:720100

Read the following passage and answer the question that follow:

Every inquiry is a seeking(Suchen). Every seeking gets guided before hand by what is sought. Inquiry is a cognizant seeking
for an entity both with regard to that fact that it is and with regard to its Being as it is. This cognizant seeking can take the
form of 'investigating’["Untersuchen"], in which cne lays bare that which the guestion is about and ascertains its character.
Any inquiry, as an inquiry about something, has that which is asked about [sein Gefragtes]. But all inquiry about something is
somehow a questioning of something[Anfragen bei . . ]. So in addition to what is asked about, an inquiry has that which is
interrogated [ ein Befragtes]. In investigative questions - that is, in questions which are specifically theoretical - what is asked
about is determined and conceptualized. Furthermore, in what is asked about there lies also that which is to be found out by
the asking [das Erfragte]; this is what is really intended.

Heidegger, Being and Time

Frafafad o $1 13 ot 39 a1e 3y g v usi F sww dfm

TP T U U & () | E & SRR O € U & ey 3 formen &1 fEEn R gt 81 fedt i g &t W= w9
T aH & o9 SO 8l 8- 99 gl &1 BT iR 3P 31 &1 Wey ol gl o & vy §1 59 999 33y &l
HITRM (investigation) BT U@ &, e GRIF UY @1 faug iR Uy &1 wed FulRor e 9 81 82 o= 39 & |
T B o/ O Uy Us1 7191 &, it &) Forira &1 Ueb fawg i & forg fawg wR uy aneniid 81 Uy afg sru=m- gq 81, 914 ga
w0 I digs 3R JGiad & - 91 vy M 3R aurafid sid1 81 59 siamal fogman | [Aigd & s faud ol S+ & o gt
HYU] BT HRTH G - Fal I [T & HHWE B

Which two of the following are correct statements? Any Inquiry:

A. is all about questions that theorize about the object.

B. is about 'something’ to be determined as its object.

C. is basically only a questioning about something.

D. is about something and the questioning of that something as well.
Choose the most appropriate answer from the options given below:

1.B and C only
2. A and D only
3.Cand D only
4.Cand A only

1) 1
(2) 2
3) 3
(4) 4




Feffea H 9 oHgal HYF 981 6 7

P1s ot forga

A TRyl & IR A B, o a5 &1 RiSidia &d g
8. fopdlt fawa W & &1 wy @1 Sed Meikd axar &

c. fodl 9ie & 9R H Usdis oAl gl

D. fordll BT & AR # 3R 914 B, forell fawy R g e 3|
i feu 7 fadhedi o U Ul Iuged SR &1 994 Diford:

1. ®aA B AR C
2. Had A 3R D
3. %A C 3R D
4. PIAA AR C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21741]
2[Option ID=21742]

3[Option ID=21743]
4[Option ID=21744]

Sl. No.101
QBID:12201001




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Number of female participants from Country D is
% of the number of male participants from
Country A,

1.21
2.24
3.28
4. 31

(1) 1
(2) 2
(3) 3
(4) 4




&= D Y Afgar ufa il &1 Tem G2 A T goy uiauiiEl & Te sl __ % ¢l

1.21
2. 24
3.28
4. 31

1)
(2)
(3)
(4)

A W N =

1[Option ID=22901]
2[Option ID=22902]
3[Option ID=22903]
4[Option ID=22904]

Sl. No.102
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Total number of male participants from Country B

and F together is % of the number of
participants in the games.

1.25
2.30
3.40
4. 45

(1) 1
(2) 2
(3) 3
(4) 4




B 3R F GHI o= U O3y UMl & oo we 1w H uiauiiE! @ e &1 __ % g

1.25
2.30
3.40
4.45

1)
(2)
(3)
(4)

A W N R

1[Option ID=22905]
2[Option ID=22906]
3[Option ID=22907]
4[Option ID=22908]

Sl. No.103
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Number of male participants from Country E is
% more than the number of female
participants from Country C.

1.18
2. 21
3.24
4.25

(1) 1
(2) 2
(3) 3
(4) 4




¥ E © Yoy UiaHIRTgl &l 91 421 ¢ € Al uiaHial &1 4= ¥ __ % 3 B

1.18
2.21
3. 24
4. 25

1)
(2)
(3)
(4)

A W N R

1[Option ID=22909]
2[Option ID=22910]
3[Option ID=22911]
4[Option ID=22912]

Sl. No.104
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

What is the ratio of the number of participants
from Country D to the number of female
participants from Country E?

1.11:2
2.11:5
3.13:4
4.7:3

(1) 1
(2) 2
(3) 3
(4) 4




&= D & Uit &1 9= R SR £ © Afgar ufquiiiat ot e @ ST 87

1.11:2
2,115
3.13:4
4. 7:3

1)
(2)
(3)
(4)

A W N =

1[Option ID=22913]
2[Option ID=22914]
3[Option ID=22915]
4[Option ID=22916]

Sl. No.105
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

If 10 additional female participants from Country C
joined the games, then the total number of female
participants from Country Cis _____ % of the total
number of participants from Country C.

1.30
2.40
3.50
4. 60

1) 1
(2) 2
3) 3
4) 4




afe T ¢ ¥ 10 ifafaa afgen ufquifar = 7w & um femn, 9 83 ¢ @ afgen wfewfigl @& ga
=T G2 C & UiqHIFET & o G- @l __ % g8l

1.30
2.40
3.50
4. 60

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22917]
2[Option ID=22918]

3[Option ID=22919]
4[Option ID=22920]

Sl. No.106
QBID:12201006

After twenty five years of graduation, from a large
group of strangers, a student is able to correctly
identify photographs of students with whom she
attended and completed her high school. This type
of learning belongs to the category of

1. Recall

2. Recognition

3. Common Sense
4. Eidetic imagery

(1) 1
) 2
3) 3
(4) 4

HORFIA! & U 95 WE & a1 [Iad [RI&T I B & 25 981 976, U e faemf agg &
BICHIh! H U 515 T H Ty H g 3R R gl & arct faenfial & die UeR 3 ugaH o
T e g | SHIRTH & 98 UPR oy ¥ 4 dafdd g2

1. T ¥R
2. Uiy
3. OHFY TdeH

4. Twed

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22921]
2[Option ID=22922]

3[Option ID=22923]
4[Option ID=22924]

Sl. No.107
QBID:12201007




Which of the following instructional effect does not
come under Role-Playing Model?

1. Strategies of solving interpersonal problems.
2. Comfort in expressing opinions.

3. Facts about social problems and values.

4. Competence in social dialogue.

1)
(2)
(3)
(4)

A W N =

FufaiRad canE® uymEl § O &F YHe Fde- Alsd & Sidtid g 31l 82
1. Jadgfadd GOE GHIYE S 0l
2. TaaR @t siftreafad & ggwal

3. I GRSl AR Hedl & a) H aW
4. QI HaTg | gardl

1)
(2)
(3)
(4)

A W N R

1[Option ID=22925]
2[Option ID=22926]
3[Option ID=22927]
4[Option ID=22928]

Sl. No.108
QBID:12201008

Qut of the following, which technology integrated
model is more useful for researchers to use:

1. TPACK
2. SAMR
3. RAT

4. PICRAT

1)
(2)
(3)
(4)

A W N =

fFrafiaa Teife! teind Alsal & B Ausdisi  Tar 3 1Y e Suant &7

1. 3T & (TPACK)

2. TH U TH 3R (SAMR)

3. AR T (RAT)

4.1 313 Tt 3R TS (PICRAT)

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22929]
2[Option ID=22930]




3[Option ID=22931]
4[Option ID=22932]

Sl. No.109
QBID:12201009

Match List | with List 11

List | List Il
(Classroom
Management) (Meaning)

A, Authoritative
Classroom
Management

I. A Management style that
allows students considerable
autonomy but provides them
with little support for
developing learning skills.

B. Authoritarian
Classroom
Management

Il. A Management style that
encourages students to be
independent thinkers but still
provides effective menitoring.

C. Permissive
Classroom
Management

ll. A Management style in
which teachers show students
that they are aware of what is
happening.

D. Withitness

IV. A Management style that
is restrictive and punitive, with
the focus mainly on keeping
order in the classroom rather

than learning.

Choose the zorrect answer from the options given

below.

TA-IW,B-ILC-1I,D-I
2ZA-1LB-1,C-1V,D-I
A-ILE-IV,C-1,D-1I
4A-NLB-IV,C-1,D-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed st

il -1 (BT

e T -1 (3R 3E)

1. TEEE P a8 el ol f[qenfial @i fHe w|mad qaH
B e

e HTEHYA Bl B

; — II. UEed! g e ol faenfial & Wdd fda® sH &

e AU WicaIfed ddl & W 3@ Hi WHEaHRI AR Sl
2l

C. AP |l UsH B g8 Jcil foraH R faenidal «f ug
DI Uge  [UolRid@dg @ d O gl W veai R IHd g |

S Iv. TEe B g8 9a off ufdd ok <81d® § 9
- e SHTEFT B 3Uféa Ham o Ia=IT 91 T@dl ¢

i< TR MU el H 9 9E IR g

TA-IV,B-1l,C-1ll, D-1
2ZA-NLB-1,C-1V, D-1
A-ILB-IV,C-1, D=1l
4 A-LBE-IV,C-I, D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22933]
2[Option ID=22934]

3[Option ID=22935]
4[Option ID=22936]

Sl. No.110
QBID:12201010

SWAYAM is a program initiated by Govt. of India
and designed to achieve the three
cardinal principles of education:

A. Access
B. Equality
C. Equity
D. Quantity
E. Quality

Choose the correct answer from the options given
below:

1.B, D and E only
2. A, Cand E only
3.B, Cand E only
4. A, B and D only

(1) 1
) 2
3) 3
(4) 4




T (SWAYAM) HRd TSR gRI AR a1 T Sriepd ¢ forads! Af¥ded T et & o Javyd
e fogidl @l T o & U BT TE 7 -

A, STH
B. THMAT
C. gHdl

D. HHEAT

E. TUTad

i feu e fasdheal 5 U U8l IR 94 -
1.®ad B, D AR E
2.HaAA, CHRE

3. HaqAB, C ARE
4.HaAA, BIAHRD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22937]
2[Option ID=22938]

3[Option ID=22939]
4[Option ID=22940]

Sl. No.111
QBID:12201011

While writing reports/manuscripts, researchers
sometime use the abbreviation 'fn’ which implies:

1. figure number

2. following number(s)
3. final note

4. footnote

(1)1
(2) 2
(3) 3
(4) 4

T Dl TNl Wiade-/ Uighiy feRad Trg &TER n' (Th TH) BT TR ST & o 39D
Hﬁlﬂ'ﬂlﬁ

1. §&1-3®
2. 3adl 9=
3. 3ffm fewuft
4. UTg feoguoft

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22941]
2[Option ID=22942]
3[Option ID=22943]

4[Option ID=22944]
|




Sl. No.112
QBID:12201012

Given below are two statements:

Statement |: Parametric tests cannot be applied to
ordinal or nominal scale data.

Statement II: Parametric tests do not suppose any
particular distribution and the consequential
assumptions.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

(1) 1
) 2
3) 3
4) 4

EIEIAEAIE AT
T - | : WHafeT® GH&0 HHYE® a1 AIHeS UAH & SAids! H SI0gad Tel g o 9@ gl
DY - 11 : Udicidh G161 fordli fafRIy faawur iR dcil ol &1 U Tg1 &d ¢ |
U BYAl & el H HafaRad fawel 5 9 98 Iw g ;

1. @Y | 3R 11 SFT 9ET §

2. %Y 1 AR 11 G e g

3. @Y | Tl &, forq @Y 1 TEd B

4. U A ¢, g B I T B

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=22945]
2[Option ID=22946]

3[Option ID=22947]
4[Option ID=22948]

Sl. No.113
QBID:12201013

One of the main advantages of online survey based
research is

1. lessened ethical requirements.

2. a reduced need to provide debriefing and
clarification to participants after completion
of survey.

3. participants can discontinue if they feel
uncomfortable at any stage of survey.

4. a better understanding by participants of
informed-consent issues.




1) 1
(2) 2
(3) 3
(4) 4

HITeTS JA&T0T 21 e & e gardi ¥ 3 U6 &

1. ®H A SHUETY

2. Gd&vT & Q1 g & &16 WAl bl Ya-1 3R TEIDHRU UGH &3 &I Saxgddl H bl
3. 3FR Y&l o fardl TRUI OR WIAHF SUEs He g™ ®d & dl d Hdal ¥ 3ad sl 9d ol
4. Sgfad-Hipid & Hal @1 WaHIRE gRI S5 999

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22949]
2[Option ID=22950]
3[Option ID=22951]
4[Option ID=22952]

Sl. No.114
QBID:12201014

The requirement in research that specifies that
researchers must notify participants about the
nature of participation research and any risks
involved, is known as

1. Anonymity

2. Confidentiality

3. Informed Consent
4. Coercion

1)
(2)
(3)
(4)

A W N =

Y S H MY Y Gaferd WauTirgl & Ufauiiar & W9Eu, Uhid, TNy 91 396 SRgd § Sfaid
DRI B SHUEH gl & o Pl Al e:

1. HAMHd
2. TG

3. OYfea Wil
4. 9 T4

1)
(2)
(3)
(4)

A W N R

1[Option ID=22953]
2[Option ID=22954]
3[Option ID=22955]
4[Option ID=22956]

Sl. No.115
QBID:12201015




Given below are two statements:

Statement |: In web based survey research, it is an
advantage that the investigator does not have to
be present when a participant is interested in
engaging in the task.

Statement II: In web based survey research, it is

a disadvantage that the investigator is not present
to provide clarify/remove doubts when

the participant is interested in engaging in the task.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4., Statement | is incorrect but Statement Il is
correct.

(1) 1
) 2
3) 3
(4) 4

TY - | : OF TR Fa&0T e H 3-3uD B U Ty T8 & old BIg U 56 A H e
B € O TP B 39 GHY SURYT T8l 81 USdl 21

DY - 1| : dF 1T JA&T =ITe H 9D Bl Fg AATH © B Y& S H YiHEferd 8- & 33®
ufauiiTal &f Wpdl; Y& THYH & U S9ue Jufd 78l 8idl gl

SUad BUAT & D | FERad [adedl § 4 9al Ju g1 -
1. ®YF | AR 11 TF 98l el
2. Y| IR I GHT AT &

3. @Y | Hel g, fag &Y 11 TTad g
4. YA | TTe7d &, T BYA 11 HE B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22957]
2[Option ID=22958]

3[Option ID=22959]
4[Option ID=22960]

Sl. No.116
QBID:12201016




Communication is a dynamic process across

. The meta universe
. Inanimate phenomena
. Varied situations

a0 =

. Specific populations only

(1) 1
) 2
3) 3
(4) 4

Ty gfafad § 9 feod te nfaxia uieare -
1. HIYSTEIUS |-_:E_ mlﬂ
2. IR-Siidd ufRmeei @AfAse haEam o
3. fafay ufvfeufaar o
4. %3 fafw SgEma o

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22961]
2[Option ID=22962]

3[Option ID=22963]
4[Option ID=22964]

Sl. No.117
QBID:12201017

The first World War was a stimulant for the
development of

. Radio

. Films

. The Press

. The Internet

b P —

1 1

(2) 2

(3) 3

4) 4

W faygs FafdRad 4 U forge e & fou Sgiud o
1.3

Bowo

A ﬁ)f{j
Erl

e

A

[

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22965]
2[Option ID=22966]

3[Option ID=22967]
4[Option ID=22968]




Sl. No.118
QBID:12201018

In communication, the three major areas of analysis
are:

A. particularism
B. semiotics
C. syntactics
D. programatics
E. virtual reality

Choose the correct answer from the options given
below:

1. A B and C only
2.B,Cand D only
3.C,Dand E only
4. A, D and E only

1) 1
) 2
(3) 3
(4) 4

TN H =yl & oiF U & 1 5?

A. fafpararg

8. Heopafaw

C. g faarg fagm

D. BHHHAG

£ HTHTE gury

i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B3R C
2.%4qq B, C 3R D

3. WA C, D ARE
4. HaaA DR E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22969]
2[Option ID=22970]

3[Option ID=22971]
4[Option ID=22972]

Sl. No.119
QBID:12201019




To be effective, classroom communication must be
A. Top down

B. Analytical

C. Unresponsive

D. Adjustable

E. Progressive

Choose the correct answer from the options given
below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B,D and Eonly

1) 1
(2) 2
(3) 3
4) 4

qyTdt 84 & oY wan-der g & 9 g afeu
A, ST

B. fazciuumeT®

C. dufafdhania

D. GHEY

E. Wi

o feu U fadeal H U Ugl IR 94 -

1.BaAAA, B AR C
2.%dq e, CHR D
3.HadC, D3R E
4.%ad B, D3R E

1)
(2)
(3)
(4)

A W N =

1[Option ID=22973]
2[Option ID=22974]
3[Option ID=22975]
4[Option ID=22976]

Sl. No.120
QBID:12201020




Given below are two statements:

Statement |: The Internet has provided new
communication channels to youngsters in societies
that are socially conditioned.

Statement IIl: The new media can be used for
harmless fun and entertainment, but otherwise
also.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
(3) 3
(4) 4

BERAGIE AR
HYF - | G T I IPicd GHrel J ge34e 3 aT figl &1 ¢ ¥R 77 G B

FYF - 1 : TC A10H BT YN B-Riad AHG-THG AR FAReH & 08 [&al of 9@ & | dfe- 98
Syt i g T g

Iudad dyHl & cie | FefaRad fGeddl § 9 98 3 g -
1. @Y | 3R 1 GF 981 8l
2. YT AR I GHI Tad &

3. HYF 1 el g, fooeg YA 11 TTad B
4. Y1 7TAd & , fb=g By 11 98T 21

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22977]
2[Option ID=22978]

3[Option ID=22979]
4[Option ID=22980]

Sl. No.121
QBID:12201021

In a bookshop, 40% of the books are in English.
QOut of the remaining books 60% are in Hindi. The
remaining 3600 books are in other regional
languages. Find the total number of books in the
bookshop.

1. 15,000
2. 16,000
3. 18,000
4, 20,000

1) 1




(2) 2
(3) 3
(4) 4

Q! Bl Ub G 7 40 % TEid 39l § €1 9201 g5 Yol &1 60 % el # €1 A9 &=l 3,600 Tidch
3 &effm vTared & B | Ta®! @1 gPH | $d UEId [l 87

\

15,000
16,000
18,000
20,000

N

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22981]
2[Option ID=22982]
3[Option ID=22983]
4[Option ID=22984]

Sl. No.122
QBID:12201022

Find the value of the following expression:

5.2%x52—-25 x2.5
Tx27

20.79
' 20.25
20.75

20.50
3.2

(1)
(2)
(3)
(4)

A W N =

frfeiad s & |IF &1 udl sy

1)
(2)
(3)
(4)

A W N =

1[Option ID=22985]
2[Option ID=22986]
3[Option ID=22987]
4[Option ID=22988]




Sl. No.123
QBID:12201023

If Ais an integer, then which of the following
statement(s) is/are true?

A. A+1 will be odd
B. A2+2 will be odd
C. A+2 will be odd
D. 2A-1 will be odd
E. A%+1 will be odd

Choose the correct answer from the options given
below:

1. A and B only
2. A Band Conly
3.D and E only
4. D only

1)
(2)
(3)
(4)

A W N R

% A U@ TN &, df FEfiea § 9 @F 9/8 Y9 Td 8/8?
A A+1 T (e da gl
B. AZ+2 Ud fawd Fw=H gt
C. A+2 U fawH der gt
D. 2A-1 U fawd G= il
E. Al+1 U@ fqug d@= Bt
i< feu e fawedl 5 9 98l 3w 9 -
1.Ha0 A R B
2. BadA, B AR C

3. ®ad D AR E
4.HaAD

1)
(2)
(3)
(4)

A W N R

1[Option ID=22989]
2[Option ID=22990]
3[Option ID=22991]
4[Option ID=22992]

Sl. No.124
QBID:12201024




If the fractions 2/5, 3/8, 4/9, 5/13 and 6/11 are
arranged in ascending order of their values, then
which of the fractions will be the third in the
ordered sequence?

1.2/5
2.4/9
3.5/13
4.3/8

1)
(2)
(3)
(4)

A W N R

ofe fi=f 275, 3/8, 4/9, 5/13 3R 6/11 @ 3k AF & HRIel HH H O01 9 dl 39 &5 H dER
R R ®F 91 fig ghme

1.2/5
2.4/9
3.5/13
4.3/8

1)
(2)
(3)
(4)

A W N =

1[Option ID=22993]
2[Option ID=22994]
3[Option ID=22995]
4[Option ID=22996]

Sl. No.125
QBID:12201025

If in a coded language, 154" means 'Good

and Tasty’; '4 6 8 means ‘See Good Pictures’; and "6
2 9" means 'Pictures are Faint’. then which of the
following digit stands for 'See'?

1.9
2.8
3.4
4.6

1)
(2)
(3)
(4)

A W N R

OfE Tt e YT & 154° &1 3 3= iR WIEy:, 469 &7 o B <@ 38 fa, ofi ‘620" @1
Hf g o € dyar, @ Fofafaa & @ o e <@ o Rfey seare?

1.9
2.8
3.4
4.6




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22997]
2[Option ID=22998]

3[Option ID=22999]
4[Option ID=23000]

Sl. No.126
QBID:12201026

"Does the distinguished Member of the Parliament
really believe that the Indian public is so naive that
they will endorse just any stopgap measure™?
Which fallacy is committed in the above
arugument?

1. Begging the question
2. Red Herring

3. Appeal to Ignorance
4. Complex Question

(1) 1
(2) 2
3) 3
(4) 4

I HEA SE 96 aad H Ay S € [ YR & A 304 Hid-Hd © o d faedt
FHHFANS UM BT TAYT HL12 IWRIad HUA H 50 ISR &1 dham &2

1. AT G

2.3 el

R B IR EGIR AR IDES
4. FAUY

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23001]
2[Option ID=23002]

3[Option ID=23003]
4[Option ID=23004]

Sl. No.127
QBID:12201027

If the statement - "Some pandas are herbivorous
animals”, is given as true, then which of the
following statements can be immediately inferred
to be false?

1. No pandas are herbivorous animals.
2. All pandas are herbivorous animals.
3. Some pandas are not herbivorous animals.
4. All herbivorous animals are pandas.

1) 1
(2) 2
3) 3




(4) 4

% Y " $S Uie] MBRR dHR & & I & 0 1 G g, ad FufafGa d d s @
HYA @R &1 U 38 8H & &9 H HTHIH [0l o Idhdl 87

1. @15 i OIS SRR S T8l &
2. v UTST METRRI TR |

3. DB UIS] ASERI SR 781 8 |
4. Tl AFPRRT TER UiST B

1)
(2)
(3)
(4)

A W N R

1[Option ID=23005]
2[Option ID=23006]
3[Option ID=23007]
4[Option ID=23008]

Sl. No.128
QBID:12201028

Which of the following statements are so related
that they cannot both be false, although they may
both be true?

A, All mushrooms are fungi.

B. No mushrooms are fungi.

C. Some mushrooms are fungi.

D. Some mushrooms are not fungi.

Choose the correct answer from the options given
below:

1.Cand D only
2. A and B only
3. Aand Conly
4.B and D only

1)
(2)
(3)
(4)

A W N R




FafaRad H 9 @H-1 Y9 38 YOR 9 946190 § (0 d 3H1 U 91y 349 Tl 5l 9ad; 990 d gHf
T &l 9dhd o7
A G HYEH HID ¢
5. ®13 *ff TR Haw Te &
C.PS HREH had g |
D. TS U HaP el &
=< feu 7Tu fadedl 5 9 981 SR 9 -
1.@dd C 3R D
2. dd A 3R B

3. HAAA AR C
4.%dd B 3R D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23009]
2[Option ID=23010]

3[Option ID=23011]
4[Option ID=23012]

Sl. No.129
QBID:12201029

Which of the following statements are logically

equivalent?

A. Some plants are non-fungi.

B. Some plants are not fungi.

C. Some fungi are plants.

D. Some non-fungi are not non-plants.

Choose the correct answer from the options given
below:

1.B, Cand D only
2.B and C only

3.A Cand D only
4. A Band D only

(1)1
(2) 2
(3) 3
(4) 4




ufdiad ®H-4 $u- diihe U I 90 &7

A DS Ul TR-$ad g

B. TS UIY Ha® -Tgl g

C. $3 Hdd YU E|

D. $% R-®a®, IR-UI4 5l ¢

i< feu e fawedl 5 9 98l 3w 9 -
1.®aa B, C AR D
2. %90 B AR C

3. ®WaAA, C3MRD
4. HAdAA B AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=23013]
2[Option ID=23014]
3[Option ID=23015]
4[Option ID=23016]

Sl. No.130
QBID:12201030

According to classical Indian School of logic
(Nyaya) which of the following steps of inference
(anumana) corresponds to application (upnaya)?

A. That mountain has fire.
B. Whatever has smoke has fire, e.g. an oven.

C. That mountain has smoke such as is invariably
accompanied by fire.

D. Because it has smoke.
E. Therefore that mountain has fire.

Choose the correct answer from the options given
below:

1. C only
2. Aonly
3.Cand Eonly
4. D only

1)
(2)
(3)
(4)

A W N R




YR AR 10 Hd & HR FafiRad @ 91/ @Rl 309 & 95Fl 6/8 ?
A U TEd R M &

B. STgl-wTal 43I &, 981 9af 3 ¢, SIY Ieall

C. 39 Udd W 43{l § i1 b 3R U & Ty HRuare-3y ° faemM @@oy) Edl g
D. T 39 TR Y3 &1
E. 3O 39 Udd IR 3T & |
i< f&U 70 fadedl § 9 98 S I -
1. ®aa C
2. Had A

3. HaAC IR E
4.%ad D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23017]
2[Option ID=23018]

3[Option ID=23019]
4[Option ID=23020]

Sl. No.131
QBID:12201031

Tina has bought a 4 gigabyte MP3 player. If each
song lasts 3 minutes and is recorded at 128 kilo
bits per second, then how many songs can be
stored on Tina's MP3 player?

1. 1156
2.1256
3.1356
4.1456

(1) 1
(2) 2
(3) 3
(4) 4

A1 TF 4 TS & MP3 WER TG 3 U 7fid 3 fiFe 9@ audr g 2R 128 [Gaifee ufa-
ThUE Bl I R TS 701 Fa1 8 99 391 & Mp2 R F fa- iaf & Safd e s 9 & 2

1. 1156
2.1256
3. 1356
4. 1456

1)
(2)
(3)
(4)

A W N R

1[Option ID=23021]
2[Option ID=23022]




3[Option ID=23023]
4[Option ID=23024]

Sl. No.132
QBID:12201032

Which of the following statements about email are
TRUE?

A. You can create folders to store and organise your
emails.

B. Using the Cc feature will hide all other recipients
from each other.

C. You can add attachments of any file size to an
email.

D. You can add signatures to your emails to give
personal contact details.

E. You can only send emails from a laptop
computer.

Choose the correct answer from the options given
below:

1. A and B only
2. A and Conly
3. A and D only
4.B, C and E only

1)
(2)
(3)
(4)

A W N R

3-He & 9N H Fafeiad o19-4 y9 9d 87
A. 30 304 3-09 &1 Y8 - U4 YHaid &3 &g Bics? &1 9dd 8|
8. T Tt (Cc) FaRmaT (BER) &1 R Tt 37 Uradbdisi &1 Uh-gar 4 i &
C. 3 fordt 3-0a o fpdt off oaR ardl BiEd & siegte (Haud)) & Jdg o1 (91s) Tdhd ol
D. 1Y f-¥ofl Yudh [0 UgH gq 30+ 3-Hd H §X1&R & Iai¥ (J1s) &R Jdbd ¢ |
E. 31U thad cideld § g1 3-Ha Uit &2 Habd gl
i< feu 7Tu fadedl § 9 98l SR 9 -
1. ®ad A 3R B
2. Bad A R C

3. HIdA AR D
4.HaAB, C ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=23025]
2[Option ID=23026]




3[Option ID=23027]
4[Option ID=23028]

Sl. No.133
QBID:12201033

Given below are two statements:

Statement I: .ixt, .rtf and .csv are three file
extensions used for generic text files.

Statement II: .rar file extension is an acronym for
Roshal ARchive; deveoped by Russian software
engineer Eugene Roshal.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1) 1
(2) 2
(3) 3
(4) 4

TUA - 11 .ixct, rif AR .csv G U3 (Cae) TIedl od Wgad 81 ald o Hled Tabe e (0w &

DU - 1l : rar B30 UGS AT 3Mbigd B URAT et g o ST W atR eill-ER goiH
e A fawita e uni

U BYAl & e J FafaRed G H 9 98 Iwm g
1. YT | AR 11 EH T B
2. %Y | AR 11 G Tad & |
3. @Y | el g, faeg YA 11 TTad g
4. YA | TTe7d &, T BYA 11 HE B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23029]
2[Option ID=23030]

3[Option ID=23031]
4[Option ID=23032]

Sl. No.134
QBID:12201034

Which one of the follwing acronyms matches
incorrectly with their full form?

1. VolIP - Voice Over Internet Protocol

2. WLAN - Wired Local Area Network

3. HTML - Hyper Text Markup Language

4. CMQS - Complementary Metal Oxide
Semiconductor

1 1




) 2
3) 3
(4) 4

frafaied 3 9 o191t uRavil 2eg 310 gui-149  TTefd Hid 8§ AR &7

1. VolP = G139 3TaX FUeTE U@

2. WLAN = G108 didd TRl "ead

3. HTML = BTOUR ¢aRe AId 3] ddd

4. CMOS = BifEH] Jed 3fazs SHdbsaet

1)
(2)
(3)
(4)

A W N R

1[Option ID=23033]
2[Option ID=23034]
3[Option ID=23035]
4[Option ID=23036]

Sl. No.135
QBID:12201035

|dentify the correct order of the following memory
types in decreasing order of access time.

A RAM

B. SSD

C. CPU Cache

Choose the correct answer from the options given
below:

1.ACB
2.CAB
3.B,CA
4.B A C

1)
(2)
(3)
(4)

A 3afy & raiet ®a | et 39 veR! & 9el-%9 o e s

A. RAM (IR T TH)

A W N R

B. SSD (TU Tg B))

C. CPU Cache (& U1 g &gl)

o fEu U fodheal 4 9 98 S g -
1.A,C B
2.CAB

3.B.CA
4.B,A C

1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=23037]
2[Option ID=23038]
3[Option ID=23039]
4[Option ID=23040]

Sl. No.136
QBID:12201036

Which of the following Millenium Deveopment
Goals (MDGs) had the highest number of targets?

1. Goal 5 : Improve Maternal Health

2. Goal 6: Combat HIV / AIDS

3. Goal 7 : Ensure Environmental Sustainability

4. Goal 8 : Develop a Global Partnership for
Development

(1)1
(2) 2
(3) 3
(4) 4

FofaRad Ueare] fae™ Se3af (Tq 21 o) § ¥ fad <ifiean dsg o7

1. 35%4 5 : HIgP @ H IR

2. 357 6 : Udeilzdl / USH ¥ aTadl

3. 3584 7 : A1 Yaddl gHET S

4,359 ¢ : (G @ fou afys wrfled fasfa &<

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23041]
2[Option ID=23042]

3[Option ID=23043]
4[Option ID=23044]

Sl. No.137
QBID:12201037

Which of the following diseases are caused by
atmospheric particulate matters?

A. Asthama

B. Melanoma

C. Dry Eye Syndrome

D. Bronchitis

E. Chronic Obstructive Pulmonary Diseases (COPD)

Choose the correct answer from the options given
below:

1. A B, Cand D only
2.B,C, D and E only
3.A C DandEonly
4. A B, DandE only




1) 1
(2) 2
(3) 3
(4) 4

Frafafad # € @1 9 I TgHS Y SiUe g el & BRI Bl 82
AGH
B. HeHHEl
C. @I i@ Jagm
D. 4Tl Ty
£. eR@1fed a1ud Brpd I (@l 3 di )
i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B, C3R D
2.%4q0B,C, D IARE

3.®BAAA, C, DIIRE
4.9 A, B, DARE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23045]
2[Option ID=23046]

3[Option ID=23047]
4[Option ID=23048]

Sl. No.138
QBID:12201038

Given below are two statements:

Statement I: Amount of oxygen dissolved in water
is a good indicator of water quality and of the kinds
of life it will suppport.

Statement Il: Chemical Oxygen Demand (COD) is a
measure of dissolved oxygen consumed by aquatic
microorganisms.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
4) 4




T - | - oI H gel o &1 O Jd &) UIad] 3R 396 gRI 991id oiad & UeR! &1 ie
I Hbad gl

DY - 1| : IS AR T (@l 31 SY) Sy gersiiadl gR1SUHN S T3 ol g3 Ao
3 AUS g

Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -
1. @Y | 3R 11 GH 981 8l
2. YT AR I GHI Tad g

3. @Y | Hel g, faeg YA 11 Tad g
4. @ T T, g I I TR B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23049]
2[Option ID=23050]

3[Option ID=23051]
4[Option ID=23052]

Sl. No.139
QBID:12201039

Given below are two statements:

Statement I: Reactor is the heart of any nuclear
power plant.

Statement II: In case of nuclear power plants,
except the reactor, the technology is exactly similar
to any other fossil fueled power plant.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




T - | ; Ruge foodt +ff Tiftieig Fofl 997 o1 gcg giar |

FYF - 1| TS Hoil G471 & qa 5, Wogex & Ram g gt O o= Sfiarsy 339 9 9eq
ard Hoit Y43 & IH B 8l

Sudad @Al & ai® § FufaRad el § 3 wel S A -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B

3. @Y | Tel &, forq @Y 11 TTAd 8
4. U T ¢, g B I T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23053]
2[Option ID=23054]
3[Option ID=23055]
4[Option ID=23056]

Sl. No.140
QBID:12201040

Which one of the following pollutants is
responsible for acid rain formation?

1. CHy (Methane)

2. CgHg (Benzene)

3. 50; (Sulphur dioxide)
4. CO ( Carbon monoxide)

1)
(2)
(3)
(4)

fufeiRad o 9 & 1 Ughd 3%y aui i I91 & e S<Rer 82

1. CHy (Fi19)
2. CgHg (dSiF)
3. 50, (S7P 313 HFES)
4. CO (@Te AT AFES)

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=23057]
2[Option ID=23058]
3[Option ID=23059]
4[Option ID=23060]

Sl. No.141
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As per NEP-2020, for offering a 4-year integrated
teacher preparation programme, all the Teacher
Education Institutions (TEls) will be required to
convert to multidisciplinary institutions by:

1. 2030
2.2040
3. 2025
4. 2035

(1) 1
(2) 2
(3) 3
(4) 4

T3 & Fifd-2020 & YR, Ud 4 T GHdd 46 ORI SHEH S LS B od 94l
e e GRmr (@ S o) @ 95-0we Yl & ¥ § Fgifed &g ad o afafdd &
L

1. 2030
2.2040
3. 2025
4. 2035

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23061]
2[Option ID=23062]

3[Option ID=23063]
4[Option ID=23064]

Sl. No.142
QBID:12201042

Find out the names of ancient Indian universities
whose names are mentioned in NEP 20207

A. Nalanda

B. Takshashila
C. Mithila

D. Valabhi

E. Vikramshila

Choose the correct answer from the options given
below:

1.C, D and E only
2.A, B, Cand E only
3.A B, D and E only
4. A, Band D only

1 1
(2) 2
3) 3




(4) 4

T3 fren =fifa 2020 & Sfcafaa wRiF YR Ayt & 9 &f 91d S|
A, FTE
B. TaIfara
c. fafdar
D. ga+i
. faseafaran
i<l feu e fadeal & 9 W6l SR 9 -
1.®aa C, D R E
2.%Bad A, B, C 3RE

3. BIAA, B, D AR E
4. AT A BIAR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23065]
2[Option ID=23066]

3[Option ID=23067]
4[Option ID=23068]

Sl. No.143
QBID:12201043

Which of the following universities were
established under the provision of the Acts of
incorporation passed by the governor-general and
Viceroy Lord Canning, in January 1857.

A, Calcutta
B. Panjab

C. Madras
D. Bombay

Choose the correct answer from the options given
below:

1. A and D only
2. A, Band Conly
3.A Cand D only
4.A B, CandD

1) 1
(2) 2
(3) 3
(4) 4




Ta-R-97d Ud a9 al8 &1 gRI Wil 1957 H UIid e U gadeH & ifaFaaf & Susy
@ Jiqrid FafiRad ®F-Y fayfaenaal of =g &1 1 A

A. eIl

B. ol

C. Hal¥

D. g

=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A 3R D
2. Bad A, BIHR C

3. AT A, C3MRD
4.A B,C3HRD

(1)
(2)
(3)
(4)

A W N R

1[Option ID=23069]
2[Option ID=23070]
3[Option ID=23071]
4[Option ID=23072]

Sl. No.144
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How many regional centers of UGC are there in
India?

1. Four
2. Five
3. Six
4. Eight

1)
(2)
(3)
(4)

YR & g ot i & oo & g &7
1.9R
2.°01g

ENH
4. 313

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=23073]
2[Option ID=23074]
3[Option ID=23075]
4[Option ID=23076]
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National Programme on Technology Enhanced
Learning (NPTEL) is the largest online repository in
the world of courses in:

A. Yoga and Meditation

B. Engineering

C. Visual Arts

D. Basic Sciences

E. Selected Humanities and Management Subjects

Choose the correct answer from the options given
below:

1. A CandE only
2.Band C only

3.B, D and E only

4. A, B, Cand D only

1)
(2)
(3)
(4)

A W N R

TIenTes! Haiila i W AP SRieH (03 U €1 S 1) fay 6 ureasHl &1 9ad 91 Sl
e &
A TR 3R &
B. HTHTIE®I
C. ER0 Fay
D. Hayd Tz
E. ifeT AFTE®! SR UeeH fawg
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A, C3RE
2. %aa B R C

3.%ad B, D AR E
4. BATAA, B, C HR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=23077]
2[Option ID=23078]
3[Option ID=23079]
4[Option ID=23080]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

The above passage has most likely been taken from
a text on

1. Human Biclogy

2. Parent Education

3. Emotional Development
4. Children Upbringing

1) 1
(2) 2
(3) 3
(4) 4

IULd T HallUe dHaadl fd e § fagr mang?

1. AFd g fagmH

2. Ora1-fudn (3iftrurads) fuan
3. Hamd® fadprg

4. §=A] BT UTaH-91mo

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23081]
2[Option ID=23082]

3[Option ID=23083]
4[Option ID=23084]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

Given below are two statements, one is labelled as
Assertion (A) and the other is labelled as Reason
(R).

Assertion (A): An infant's avoidance of unpleasant
stimulations or situations is limited.

Reason (R): An infant is unable to decode the
emotions expressed from others’ faces.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both [A) and (R) are correct and (R) is the
correct explanation of (A).

2. Both (A) and (R) are correct and (R) is the
correct explanation of (A).

3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1) 1
(2) 2
(3) 3
(4) 4




TG By RETEE : T @l 3@ (A) 3R G @ BRY (R) Bel T 5|

HTHHY (A) : U 28] & AU e SeiuA ar Rufeat &1 uiter it 21

DR (R) : U I T & dUes @1 GaTH® A ffad & faded @3- § sad gar g
Iuddd DYl & HIclld | HHildd [ddbedl H 4 el 9t g :

1. (A) 3R (R) TFI Uel & 3R (R), (A) BT Tel ARAT & |
2.(A) 3R (R) ST 981 § TR (R), (A) 1 Hel AR T2l 31
3. (A) W8I § W (R) 981 TRI &
4. (A) W8I Tel § IRq (R) el &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=23085]
2[Option ID=23086]
3[Option ID=23087]
4[Option ID=23088]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

The angry face of a parent will most likely generate
which among the following responses in a new
born child.

A. Crying

B. A smiling face to pacify the parent.
C. Sucking the edge of a blanket .

D. 'Pick-me-up’ gesture.

Choose the correct answer from the options given
below:

1. A, B and Conly
2. A, Cand D only
3.B,Cand D only
4. A, B and D only

OR!
(2) 2
3) 3
(4) 4




HIAT-MUdT BT HIUHd A=A e Y Uh Aged 28] § & H-H Hitd Guifdd srfhar ude gril?
A, FaedrT

B. HTAT-fdT & 2id B3 &d TEPee W I

C. Had & [ DI LI

D. Hgl TMicl § Jaral @1 Habd

i< feu T fasenl 5 94 98 Iw g -
1.®ad A, B AR C
2.Had A, C 3R D

3. ®ad B, C AR D
4.%HadA BIARD

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=23089]
2[Option ID=23090]

3[Option ID=23091]
4[Option ID=23092]

Sl. No.149
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

Given below are two statements:

Statement I ‘Approach’ is an emotional arousal
response in an infant towards pleasant stimulation.

Statement Il: An infant has little understanding of
the emotions conveyed through facial expressions
of others.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4. Statement | is incorrect but Statement Il is
correct.

1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.
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Continued parental despondency could cause
which of the following changes in an infant?

A. Alteration in sleep pattern

B. Increasingly irritable behaviour
C. Reduction in anxiety levels

D. Increased anger

Choose the correct answer from the options given
below:

1. A, B and Conly
2. A, B and D only
3.B,Cand D only
4.4 B, CandD

1 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
3) 3
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